Research Notes, Principles and Truths
Introduction

From time to time I conduct research into various aspects of portfolio management and publish a research note on the work I have done.  This research note is then added to this document for filing purposes in the programme.  Periodically updates are made as new ideas evolve.
This document also contains a list of investment principles and unfortunate truths one should know about portfolio management.
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Investment Principles

1: Where your focus should be

45 years ago the JSE Alsi index was 255.  At end 2017 it was about 59 000.  This is a gain of 23 000%, or 13% p.a.  However, this is only part of the story.  If you assume that annual dividends were reinvested, the index would have been about 346 000, i.e. a gain of 136 000% or 17.4% p.a.  So, over this period, 83% of one’s wealth was created by dividends reinvested.  Most investors do not know this so waste their time chasing capital gains and trying to time the market.

2:  The impact of alpha on wealth creation

A small increase in the return above the Alsi index over time can dramatically increase your wealth and a small reduction can destroy it, e.g. R10 000 invested over 45 years earning the Alsi return of 17.4% p.a. would have generated wealth of R14m.  19.4% p.a. (a positive alpha of just 2% p.a.) would have resulted in R29m and 15.4% (a negative alpha of just 2% p.a.) a mere R6m.  Investing in money market over this period would have resulted in R100k.

3: The secret to generating alpha

Over the past 10 years the Findi 30 has outperformed the Alsi and the Top 40 seven out of ten times.  Our MeB portfolio management strategy (Modified, Enhanced Beta) defines Beta as the Findi 30 and enhances this index by eliminating the dogs and duplicates and adding some sweeteners outside the Findi 30.  It then modifies the portfolio by capping the percentage holding of any one share to reduce risk.  Over time this strategy beats the Alsi (see the effects in (2) above).

4:  Market returns skewed

During 2017 the Alsi yielded a return of 21% (capital growth and dividends).  One share, Naspers, yielded a return of 72%.  The yield on the JSE without Naspers was 8% for 2017.  If your unit trust or tracker investment performed well in 2017 it was probably the result of over-weighting Naspers.  This trend cannot continue into the future.  You should be projecting future returns when making investment decisions and not past returns.

5:  When the SOTP valuation method is not valid
The sum of the parts valuation methodology is only valid if the benefits derived from the assets held by the company are passed on to the shareholders of that company.  Where the company milks the value of its assets by paying excessive remuneration to management or uses these benefits to make poor investments, leaving the shareholders of the company with the crumbs, one cannot value the shares of the company based on the value of the assets owned by the company.  In such cases there will be a substantial discount between the value of the shares and the assets so held.  And the reverse is true: the value of the shares of the company should never be more than the value of the net assets held by the company.

6:  The importance of a share selection process

Our four step evidence based share selection process (Returns, Profile, Business and Value) would have avoided the African Bank, Steinhoff, Brait and Resilient (and associated company) disasters.  You do not have to be an accountant to be able to apply this simple process.  The database and manual in our programme gives you most of the evidence and skills needed.

7:  Passive wealth builder goals

The four goals for creating passive wealth are to capture beta (the market returns), manage risk, minimise costs and generate alpha (returns above the market), in this order.  When passive investors focus only on alpha, they make big hits and destroy wealth.

9:  The concept of value

The value of anything is what you can get from it.  There are two concepts of value:  What you can get from it by holding it (utility value) and what you can get from it by selling it (disposal value).  If the disposal value exceeds the utility value, sell it.

10:  Belief on its own does not count as evidence

Portfolio management is a discipline so “belief” is not an element of decision making unless it is supported by sufficient, relevant, reliable and current from the source..

11:  Why women outperform men

Women are generally more successful at managing portfolios than men because they are risk adverse, they pay attention, they do not gamble and they do not fiddle (churn).

12:  Weighting counters in portfolios
There are three options to choose from when deciding on how to weight counters in portfolios, i.e. mimic the market weightings, equal weight and try to predict the winners and losers.  Over time equal weighting outperforms the other two options.

13:  Why the investment angels win
In the short term there is a higher probability of making a loss on a portfolio than making a profit.  The predicted return over the long term is about 1% p.m.  The monthly standard deviation of returns on individual shares, i.e. deviations from the mean, averages 7%.  The normal curve is skewed towards larger downside moves than upside moves.  So, in the short term, expect portfolios to under-perform.  In the long term standard deviations reduce.  So it is not the investment angels that nail you in the short term – the stats do.
14:  How to generate alpha

The four criteria for generating alpha are:

1. Perform sound due diligence procedures when taking decisions thereby avoiding large losses

2. Be more right than wrong in your selection process, i.e. achieve a batting average of over 50% against the Alsi

3. Over-weighting the winners and under-weighting the losers helps but over-weighting counters in a portfolio is a risky strategy, equal weighting is preferred to reduce risk
4. Rectify selection mistakes promptly

Unfortunate truths about investing
1. Not a single person in the world knows what the market will do in the short run.
2. Most of what is taught at varsity about investing is theoretical nonsense.  There are very few rich professors.

3. The majority of market news is not only useless but is harmful to your financial health.

4. Professional investors have better information and faster computers than you do.  You will never beat them by short-term trading.  Don’t even try.

5. Most initial public offerings will burn you.  People with more information than you want to sell.

6. When someone mentions charts, moving averages, heads-and-shoulders, resistance levels and candle sticks, flames and sticks, walk away.

7. The phrase “double-dip recession” was mentioned 10.8 million times in 2010 and 2011 according to Google.  It never came.  There were virtually no mentions of “financial collapse” in 2006 and 2007.  It came.

8. For many a house is a large liability masquerading as a safe asset.

9. Rarely do more than three or four variables really count in decision making.  Everything else is noise.

10. Investments that offer little upside and big downside outnumber those with the opposite characteristics at least 10 to 1.

11. In professional sport 80% of points are won.  Amateurs lose 80%.  There are no “professionals” in the investing game so our focus should not be on making big hits but on avoiding big losses.

12. The odds are high that at least one well-known company is insolvent and hiding behind fraudulent accounting.
13.  By definition the majority of investors cannot beat the market over time.  [But I believe, and have done it, that individual investors can, with a sound strategy like MeB, beat the market over the long term.]
RN 01: Processes and Decision Making Framework
Introduction

The purpose of this Research Note is to explain the concept of using processes in your wealth creation mission.  The underlying concept is that you should not act before you plan and you should not plan before you think, i.e. first think, then plan then act then obtain feedback.

The reasons we confine each process to four steps are:

1. Only the important steps will be taken
2. Four steps are easy to memorise
3. It keeps the process simple

4. The task is more likely to get accomplished

Continuous Incremental Improvement 

A worthwhile goal is to strive for the elusive goal of perfection in everything you do.  This will take dedication, perseverance, time and effort.  However, the satisfaction you will derive by accepting the challenge and seeing results will be worth many times more than the investment you make.

The Japanese principle of continuous incremental improvement is called “Kaizen”.  Coincidently, there are four stages to this process:
1. Unconscious incompetence when you do not recognise that you are clueless – you “believe” you know it all.  Ego keeps you wedded to this stage.
2. Conscious incompetence when you realise that you lack the skills you need to make a plan.

3. Conscious competence:  This is when you start the journey on the path to becoming competent.
4. Unconscious competence:  This is when doing the right thing comes naturally.
 As a student pianist I never got past stage 2 as I realised that to become a competent pianist takes talent (which I never had) and an enormous amount of time to overcome my lack of talent.  So I abandoned that mission.
The good news is that to become a competent investor only requires clarity of thought and a sound analytical process.  The process for making things happen are: dedication, discipline, attention to detail and delivery, i.e. the four D’s.
De Bono’s Six Hats
I have been a practitioner of Edward de Bono’s principles of lateral and parallel thinking most of my life.  Many of us (especially us accountants) have been trained to think in the box.  EdB encourages you to think out of the box.  His book on Parallel Thinking explains the six hats you need to memorise and utilise to think out of the box.  You will find these concepts embedded in the suggested decision making process below.  The six hats are:

Blue (think sky) depicts “Thinking about thinking and managing the thinking process”.

White (think white paper) depicts “Information”, i.e. what information you need, where do you find it, can you rely on it and is it sufficient for the purpose.

Red (think fire) depicts “Feelings and Intuition”.  Remember that valid “gut thinking” can only come from prior experience and after getting and analysing the facts.

Black (think of a judge’s robe) depicts “Risk, caution and criticism”, e.g. what are the possible negative outcomes and consequences of deciding to proceed.
Yellow (think sunshine) depicts “Benefits and values”, i.e. what can we gain from deciding to proceed.

Green (think tree branches) depicts “Alternatives, options, new ideas and possibilities”.  This hat encourages creativity.

Applying the six hat process ensures that you become creative and are able to discard outdated thinking.

Decision Making Framework
1. Think (ask yourself questions)
2. Plan (develop an approach)
3. Act (execute plan)
4. Feedback (learn from the process)
Think
1. Crystallise mission, motivation, objectives and goals

2. Organise mindset, environment, resources and time

3. Prioritise this mission

4. Strategise processes, systems, policies and tactics
Plan
1. Evidence: source, quality, analysis and evaluation
2. Alternatives: identify, benefits, risks and consequences
3. Activities: identify, sequence, timing and delegation
4. Document: thinking, evidence, choices and schedule
Act

1. Proactive
2. Focus

3. Efficient

4. Execution
Feedback

1. Monitor

2. Measure

3. Analyse
4. Modify
RN 02: Processes for Following Instructions
Introduction

The purpose of this Research Note is to document a process for following instructions.  This procedure can also be used as a study methodology.

While presenting my QE preparation courses I realised that one of the main reasons candidates failed was that they did not follow the instructions in the questions; in many cases the instructions were not clear.  A survey of 20 years of examiners’ comments revealed that in 90% of the questions marked, examiners commented that candidates did not answer the question.  This inability on the part of the candidates cost many a candidate their CA(SA) qualification to the detriment of their careers.

The inability to follow instructions in our DIY Portfolio Management Programme is a major problem.  It is embarrassing to find that many highly educated adults do not, or cannot read!  Here are some examples:

1. Three months in a row I requested past participants to re-register to access the database.  Many did not read the emails and are now complaining that they cannot access the database after the deadline had passed.

2. If you were entitled to the database in the past and you did not re-register, I advertised that to get re-instated all you had to do was to acquire the manual.  People are now paying for the database again, which means I have to waste my time making refunds.

3. I gave clear new instructions on how to access the secure section of our website.  People are still using the access code “Money” and cannot understand why they cannot get into the database.

4. For a full year I have been explaining to our Hedgehog members that “trustee fees” are the costs of collecting interest from the JSE.  There are still members who do not get it.

5. Replies to emails written by Jade or me are addressed to Colette.

Bored yet?  This is a major human problem.  So how do we fix it?  By putting EdB’s Blue hat off and creating a process.

Process for Following Instructions 

The process we used to follow instructions in my QE preparation programme was the four R’s:

1. Register

2. Retain

3. Recall

4. Recognise

You cannot register the instruction in your mind if you do not bother to read it!  This is the first problem: how do we get people to read their emails?

The process for registering is:

1. Read – set aside a few minutes to read it

2. Focus – fully concentrate while reading

3. Relevance – identify when it is to be applied

4. Understand – comprehend the instruction

Retaining what you have registered requires you to:

1. Revise what you read

2. Repeat it, preferable aloud

3. Document it, I use a “Never Knew Journal”

4. Mind-map it, draw a picture of what you read

Did you notice how easy it was to remember EdB’s six hats?  He gives you a picture to be able to link them, e.g. “Green” for alternatives is tree branches.

To be able to recall what you read you need to work at it, i.e. practice it.

To be able to recognise that what you recalled was accurate, you need to perform a post-mortem on your attempt at practicing it.

In preparing for examinations, the post-mortem is the most important step in the process and the one that students loathed!  In my QE days we used to attempt practice papers and simulated examinations on Saturday mornings and the afternoons were devoted to “post-mortems”, i.e. identifying and documenting ever single error that was made and resolving not to repeat them.  Geniuses only make mistakes once.  Normal people make mistakes on average twice or three times.  When you keep making the same mistake over and over again you are an, should I say it? 

RN 03: Evaluating the Risk of Share Price Falling

Introduction

Having analysed financial statements for over fifty years for various purposes, e.g. raising loans, raising equity, obtaining a listing of shares on the JSE, take-overs and mergers, investing in the company, performing valuations for IFRS purposes, etc. I have developed a skeptical attitude and can often see what management does not want me to see.  For example, I was able to predict the fall in the share prices of African Bank, Brait and Steinhoff.

The purpose of this Research Note is to list ideas on what to look for when assessing this risk.  I have also given a list of examples of mendacity I have witnessed over my long analytical career.

The Process

When evaluating a share for inclusion in a portfolio one should follow the 4EB (Four Step Evidence Based) process:

1. Performance: Assess the share’s past performance

2. Profile: Assess the profile of the company

3. Business:  Assess the business of the company

4. Value:  Assess whether the share price reflects value

Our policies are that we do not invest in:

1. Turnarounds

2. High risk companies

3. Poor businesses

4. Over-valued shares

Performance

When assessing the past market performance of a share the following areas require attention:

1. Gains and losses: Long, medium and short term

2. Driving forces: Results, rumours and announcements

3. Volatility: Wild swings or gradual movements

4. Reality checks:  PB’s, PE’s, DY’s and IGRs

Our policy is that we do not invest in turnarounds.

Profile

When assessing the profile of the company, the following issues and risks should be addressed:

1. Management

2. Reporting

3. Financial

4. Regulatory

Our policy is that we do not invest in high risk companies.

Business

When assessing the business of the company we focus on:

1. Nature – how does the company generate revenue

2. Diversification – vertical and horizontal spread

3. Threats – possible negative impacts

4. Countries – where the company conducts its business

There are certain businesses we do not invest in, e.g. furniture manufacturing and retailing, motor dealing and SA mines.
Value

When assessing the value of the company the following aspects should be addressed:

1. Dividend sustainability

2. Return required

3. Growth predicted

4. Model’s results

When assessing the results produced by the model one should perform sensitivity analyses and assess the resultant:

1. Dividend yield

2. Price earnings ratio

3. Price book ratio

4. Duration

Example

To understand how this process works, I have applied it to Steinhoff below to illustrate how one could have avoided the loss caused by the share price collapse.

Step 1:  Past market performance

Five of the six months before the crash the price of the share fell.  Test failed.

Step 2: Profile of company

2.1: Management issues

The management went on a buying spree acquiring unrelated businesses and paying massive amounts for goodwill and intangible assets. Test failed.

2.2: Reporting quality

The financial statements of the company left much to be desired. Test failed.

2.3. Financial strength

The company doubled its borrowings to R164bn from 2015 to 2016 and its intrinsic debt equity ratio deteriorated from 133% to almost 2 000% in 2016.  Test failed.

2.4. Regulatory issues

The company was in a legal tussle with regulators in Amsterdam and their offices were raided in Frankfurt.  Test failed.

Step 3:  Business of company

I do not invest in furniture.  Test failed.

Step 4: Value for money

My valuation model and the valuation metrics I use pointed to the share being hopelessly over-valued.  Test failed.

Using this process one would clearly not have held Steinhoff in a well-constructed portfolio.

Indicators to watch for

Individually, the indicators below may be harmless but when too many of them appear together, a red flag should be raised.

Performance

1. A sudden unexplained fall in the share price

2. Sudden high volatility in the share price

Profile: Management issues

3. Top management resigning from office

4. Autocratic management style

5. Conflicts with auditors

6. Control of company through voting shares

7. Excessive management remuneration

8. Large sales of the company’s shares by directors

Profile: Reporting issues

9. Changing year-ends

10. Changing the presentation currency

11. Lots of hype and unnecessary detail given

12. Wording in notes confusing/complicated

13. High rounding amounts

14. Using own definitions of earnings in presentation

15. Quoting EBITDA in the financials

16. Reporting losses on discontinued operations

17. Unexplained material entries and items

18. Strange items in the changes in equity statement

19. Revaluations credited to earnings

20. The over-use of red or pink in the financials

Profile: Financial issues

21. Transactions with related parties

22. Large related party debit and credit loans

23. Offering scrip dividends or Drips in lieu of cash

24. Paying large amounts for intangible assets

25. Deteriorating margins

26. Falling returns on equity

27. Poor return on equity

28. Return on minority exceeding return on majority 

29. Growth rates slowing down

30. Suspicious poorly worded contingent liabilities

31. High debt equity and intrinsic debt equity ratios

32. Borrowing off-shore – foreign exchange risk

33. Over-use of derivatives

34. Low tax rates

35. Poor utilisation of gearing – costs exceeding returns

36. High liability settlement ratios

37. Growth in earnings not matching growth in revenue

38. Dividend growth not matching earnings growth

39. Working capital increasing faster than revenue

40. High annual impairment write-offs

41. High liability settlement ratios

42. Plant replacements regularly exceeding depreciation

43. Cash flows from operations falling

Profile: Regulatory issues

44. Tax issues with Revenue Authorities

45. Concerns raised by audit committee and auditors

46. Regulators investigating the operations

47. Litigation against the company and/or associates

Business

48. Frenetic acquisitions of businesses

49. Acquiring off-shore businesses

50. Acquiring unrelated businesses – no synergies

Valuation issues

51. High growth rate imputed in the share price

52. High price book ratio v low return on equity

53. High price earnings ratio

54. Low dividend yield

The Good News

You do not have to do all this work.  I do it for you in Map 3.  All you have to do is study it and make up your own mind.

Examples of Mendacity Experienced

The following is a list of examples of mendacity I have experienced over my life-time.  I can name the companies but will not!

1. Revalued an investment through profit or loss and paid bonuses out of the resulting “gain”.

2. Ceased depreciating plant because “the market value exceeded the carrying value”.

3. Capitalised operating expenses to land and buildings to avoid technical insolvency.

4. Revalued plant to avoid technical insolvency and then depreciated the historical book value.

5. Revalued available for sale financial assets through profit or loss.

6. Treated the proceeds from the sale of fixed assets as revenue.

7. Utilised a provision no longer required as a reduction of operating expenses.

8. Utilised a reversal of a deferred tax liability due to a rate change to increase the provision for doubtful debts.

9. Reported no increase in doubtful debts for the current year as “management was conservative with the provision in the previous year”.

10. Depreciated plant over 100 years because it is being maintained.

11. Increased the useful life of plant (to reduce depreciation) to offset a hedging loss incurred.

12. Transferred losses/liabilities to a special purpose entity.

13. Used UK mortality tables in SA to calculate the provision for post-retirement benefit obligation.

14. Revalued plant through operating profit.

15. Recognised a profit on the sale of a business to a subsidiary and the resulting goodwill paid by the subsidiary on consolidation.

16. Recognised the gain on the sale and lease-back (financial lease) of plant in profit.

17. Wrote off stock and debtors directly to reserves.

18. Created inherent goodwill by crediting profit.

19. Created goodwill by crediting shareholder’s loan.

20. Set off of loans made to third parties against borrowings.

21. Treated a loan to a subsidiary as cash in the holding company’s balance sheet.

22. Did not disclose diluted earnings per share as the shares to be given to staff were held in trust.

23. Backdated the share option grant date to avoid taking an IFRS 2 hit to profits in the current year.

24. Did not eliminate inter-group transactions and balances on consolidation.

25. Netted cost of sales against revenue to “save” regional services levies.

26. Treated a reverse takeover as a normal takeover on consolidation thereby overstating assets.

27. “Lost” stock sheets to save tax.

28. Duplicated stock sheets to boost profit.

29. “Lost” hedging documentation to avoid hedge accounting a profit resulted from the hedge.

30. Included fixed assets in inventory (and in fixed assets), i.e. duplicated the company’s assets.

31. Included the following year’s purchases in inventory (to increase staff bonuses).

32. Invoicing goods delivered in the following year.

33. Pocketing cash sales by shareholders.

34. Treating personal expenses as the company’s.

35. Overstated inter company management fees to utilise an assessed loss.

36. Not providing for bad debts to boost profits.

37. Not impairing plant that had disappeared to avoid accounting for the loss.

38. Discounting post-retirement benefit obligations at a high discount rate to avoid technical insolvency.

39. Discounting a provision for environmental damage at a high discount rate to reduce the liability.

40. Inventory worth many times book value not disclosed.

41. Grossed up a bank overdraft facility and cash to give the impression that the entity was cash flush.

42. Held back cheques at the year-end to understate the bank overdraft and improve working capital.

43. Hid a current gain in opening retained income.

44. Overstated projected cash flows when calculating provisions for impairment to over-state assets.

45. Treated the premium paid for existing profitable contracts on a business combination as “goodwill” and did not subsequently impair the “goodwill” as and when the profits were realised.

46. Bought lease agreements, treated the cash outflow as an investment activity in the cash flow statement and treated the receipts as an operating activity.

47. Backdated a business combination to recognise pre-acquisition profits.

48. Did not separately disclose the profit from the sale of a business from normal trading profits.

49. Used a low useful life to avoid a depreciation charge (high residual value).

50. Used a high useful life to reduce depreciation.

51. Treated a designated cash flow hedge loss as a speculative loss to avoid reducing future profits.

52. Forced customers to accept goods they did not need before the year-end to boost sales.

53. Treated rebates received on purchases as revenue to reduce the gross profit percentage.

54. Changed the classification of an operating lease to a finance lease to improve EBTIDA.

55. Re-allocated expenses between segments to manipulate segment performances.

56. Expensed costs of improving an asset to reduce tax.

57. Increased the standard deviation in an option valuation to reduce the cost of a share based payment.

58. Netted the funding received from a major customer towards the construction of plant against the plant.

59. Backdated the authorisation date for the AFS to avoid disclosing a post-balance sheet event.

60. Took a big bath after a takeover and blamed the previous owners for over-stating assets and understating provisions/liabilities to make future profits look good.

61. Recognised borrowings as equity.

62. Treated a foreign currency translation reserve as profit in the current year.

63. Treated a prior period error as a change in estimate to boost current profits.

Research Note 04: The New Valuation Metric
Concept of Value

When you, a small minority shareholder, acquire an equity share in a listed company you are not acquiring a share of the assets of the company or a share in its profits.  You are acquiring a bundle of rights.  These rights include:

1. The right to receive future dividends

2. The right to the proceeds on the liquidation 

3. The right to vote at a shareholder’s meeting

4. The right to sell the share

There are two different values for a listed share:

1. What you can sell the share for at any point in time

2. The holding value, i.e. the present value of the benefits you can expect to receive from the share

If you believe that the utility value (the value if you hold the share) exceeds the disposal value, you should hold the share.  If you believe that the disposal value exceeds the holding value you should sell the share and find an alternative investment.

To be able to take such a decision you need a valuation methodology for valuing the bundle of rights.

The only right that has any value to a minority shareholder is the right to receive future dividends.  The right to liquidation proceeds for a going concern is irrelevant and being able to vote at a shareholder’s meeting is worthless.

Evaluating a share’s holding value

The return you receive from a listed equity share comes from dividends and capital growth:

r = DY + g

As the dividend yield is the previous dividend per share divided by the price of the share, one needs to convert it to a forward dividend yield by multiplying it by (1 + g):

r = DY (1+g) + g

However, in South Africa shareholders pay withholding tax on dividends so we need to reduce the dividend yield by (1-t):

r = DY (1+g)(1-t) + g

From this equation the formula for a dividend yield can be derived:

DY = (r-g) / ((1+g) (1-t))

If you require a return on your investment of, say, 10% p.a. and you expect future growth in dividends to be 7% p.a. the dividend yield for this share should be:

DY = (10% - 7%) / ((1 + 7%) (1 – 20%)) = 3.50%.

The dividend yield can also be derived from Gordon’s Growth Model (the formula for discounting a future constant growing annuity):

Value = D (1+g) (1-t)) / (r-g)

D/V (DY) = (r-g) / ((1+g) (1-t))

The two major determinants of a dividend yield are, therefore, the discount rate (the 10% above), of which the risk premium is the most important element, and the expected future growth in dividends (7% above).

If the required risk rate increases, the dividend yield increases and if the expected growth rate increases the dividend yield reduces:

1. The higher the risk, the higher is the dividend yield

2. The lower the risk, the lower is the dividend yield

3. The higher the growth, the lower is the dividend yield

4. The lower the growth, the higher is the dividend yield 

If a share’s dividend yield increases the share has been downgraded by the market (the risk is considered to be higher than it was previously thought to be or the growth expectations have been lowered).  Conversely, if a dividend yield reduces, the share has been upgraded by the market (the risk is considered to be lower than previously thought or the growth expectations have been increased).

The value of a share is the dividend per share divided by the fair dividend yield.  When attempting to value a share one must determine an appropriate discount rate and the expected future growth rate in dividends.  To determine a fair discount rate one should assess the various risks applicable to the share.  This is a relatively straight forward procedure.  The problem is to decide on the growth rate of future dividends.

A good starting point would be to determine the growth rate that the market is imputing in the share price.  This rate can be derived from the formula for a fair dividend yield:

DY = (r-g) / ((1+g) (1-t))

g = (r – DY (1-t)) / (1 + DY (1-t))

If after assessing the past growth rates in dividends per share, the sustainable growth rate and the potential growth going forward you consider that the imputed growth rate is too high, it means that the share is overvalued.

Few investors understand that the fair price earnings ratio is merely the dividend pay-out percentage divided by the dividend yield and few know that a fair dividend yield is a function of risk, growth and withholding tax.  Similarly, few understand how to evaluate a price book ratio, despite it being a powerful indicator of value.  However, most will understand the concept of an imputed growth rate.  If, for example, the IGR of a share is 5% p.a. and past dividends have consistently grown by 8% p.a., this is information worth having.  Map 3 contains all the imputed growth rates for the level 1 and 2 companies we analyse.

Let’s promote the measure IGR to where it belongs in our share evaluation system.  It is a powerful idea.

Research Note 05: The Return on Equity
Importance of the ROE Measure

A critical determinant of the value of a share is the predicted future growth in dividends expected from that share.  One of the factors to consider when making this prediction is the “Sustainable Growth Rate”.  The formula for the sustainable growth rate is the return on opening equity multiplied by the plough-back of profits, i.e. 1 minus the dividend payout percentage.  For example, if the return on opening equity is expected to be 20% going forward and the percentage plough-back of profits is expected to be 40%, the sustainable growth rate will be 8% p.a. (20% multiplied by 40%).

The predicted growth rate is also an important element in the price book ratio, the price earnings ratio and the dividend yield of a share.

The return on equity is a measure of whether management is adding value for the shareholders.  If, for example, shareholders expect a return on their investment of 12% p.a. after taking an appropriate risk premium into account and the ROE of the company is only 9% p.a., management is destroying value and the price book ratio of the share should be less than one.  Conversely, if the ROE is 25% p.a., the price book ratio should be way above one.

Determinants of the ROE

Five sets of ratios determine the return on equity:

1. The operational performance of the entity

2. Return on non-core assets

3. The extent of gearing from borrowings

4. The tax regime under which the entity operates

5. The extent of gearing from outside shareholders

Outcome Measures

There are four outcome measures in arriving at the return on equity, i.e. the return on:

1. Operating assets

2. Total assets

3. Total equity before and after tax

4. Equity

Operational Performance 

The measure of operational performance of an entity is the return on operating assets (profit before interest and tax to operating assets).  The determinants of this return are:

1. The gross profit achieved

2. Other income earned

3. The operating expenses incurred

4. The utilisation of operating assets (velocity)

Gross profit

If an entity buys an item for R80 and sells it for R100 it will have made a gross profit of R20, or 20%.  The formula for gross profit is, therefore, (revenue minus cost of sales) divided by revenue.

Other income earned

As part of its core earnings an entity may earn sundry income such as charging for shelf space by a retailer or royalties earned from permitting third parties to use its brands.  The other income ratio is such income divided by revenue.

Operating expense ratio

An entity’s operating expenses include salaries and wages, rent, depreciation, rates and taxes, telephones expenses, motor vehicle expenses, etc.  The formula for this ratio is total operating expenses, excluding finance costs, divided by revenue.

Margin

The gross profit percentage plus other income ratio less the operating expense ratio is the margin of the entity.  Margin is, therefore, the gap between revenue and all expenses (net of other income), other than finance costs and tax.

Velocity

For a business to operate effectively, it needs fixed assets (property, plant, equipment, software and other intangibles) and working capital (inventory, receivables and cash less payables).  Revenue divided by the operating assets, i.e. the total of fixed assets and working capital, is velocity.

The more effectively the entity utilises its fixed assets and working capital, the higher will be the velocity.  This can be achieved by, for example, collecting receivables sooner, keeping inventory levels low, better utilisation of plant and equipment, etc.

Return on operating assets

The return on operating assets is arrived at by multiplying margin by velocity.  The list below comes from Map 3 at the date of writing.

	
	GP
	Exp.
	Mar.
	Vel.
	ROOA

	APN
	48.3%
	28.2%
	20.1%
	0.45
	9.1%

	AVI
	43.7%
	26.5%
	17.2%
	2.14
	36.7%

	BVT
	29.1%
	19.4%
	9.7%
	2.55
	24.8%

	CLS
	21.0%
	14.4%
	6.6%
	8.28
	54.4%

	PIK
	18.0%
	15.6%
	2.4%
	14.07
	33.7%

	SHP
	24.0%
	18.4%
	5.6%
	3.91
	22.1%

	SOL
	58.6%
	40.8%
	17.8%
	0.60
	10.7%

	TBS
	33.4%
	20.1%
	13.0%
	2.38
	30.8%

	TRU
	52.6%
	29.4%
	23.2%
	1.37
	31.7%

	MTN
	66.7%
	57.1%
	9.6%
	1.07
	10.2%

	VOD
	60.5%
	34.8%
	25.7%
	1.65
	42.3%


The metric for measuring the profitability of the operations of the entity is the return on operating assets.  The four preceding ratios tell the analyst how it got to be profitable or not profitable.

Study the above ratios and try to understand what makes them what they are.

The return on operating assets is margin divided by operating assets or margin multiplied by velocity.

The return on non-core assets, such as investments in other companies, is the income from non-core assets divided by the non-core assets.

The return on total assets is total income before interest paid and tax divided by total assets.

There are two elements to gearing:

1. The cost of borrowings

2. The extent to which borrowings are used

The idea behind gearing is that if the cost of borrowings is less than the return the entity can earn on its total assets, the return on the shareholders’ equity can be enhanced.

If, for example, an entity can earn 15% p.a. on its total assets and can borrow at 10% p.a. it can “gear” its return on equity to a return higher than 15% p.a.  The greater the extent to which borrowings are used, the greater is the effect of gearing.

There is much controversy surrounding this aspect of finance.  One school of thought says that an entity cannot increase value by utilising borrowings as the addition risk of borrowing exactly outweighs the additional return that is earned on equity.  The other school of thought believes that one can increase value to a point, but beyond that point value can be destroyed by utilising additional borrowings.  Steinhoff is a case in point where they crossed the line and are now paying the price.

The calculation of the gearing benefit (or loss) is (return on total assets less the cost of borrowing) multiplied by the debt equity ratio, e.g.

	ROTA
	Int. Rate
	Debt to Equity
	Gearing Benefit

	20%
	10%
	40%
	4%

	20%
	10%
	60%
	6%

	5%
	10%
	40%
	-2%

	5%
	10%
	60%
	-3%


The return on total equity before tax is the pre-tax profit divided by the total equity of the company or the return on total assets plus the gearing benefit from borrowings.

The return on total equity after tax is the total earnings divided by total equity or the pre-tax return on total equity multiplied by (1 minus the tax rate).

The tax cost reduces the return available to shareholders.  The recent tax cut in the US from 35% to 21% for corporates will benefit the return to shareholders of US companies.  This is the main reason for the increase in the US share prices.

The return on total equity after tax is the total earnings of the company divided by the total equity of the company or the return on total equity before tax multiplied by (1 – the tax rate).

The return on equity can be enhanced or watered down by the profit attributable to outside shareholders.  These shareholders could be preference shareholders, different classes of equity shareholders or shareholders of subsidiary companies in a group other than the holding company.  If, for example, the holding company holds 80% of the shares in a subsidiary, the other 20% will be “outside shareholders”.

The approach to calculating the extent of enhancing or watering down is similar to the calculation of the gearing effect from using borrowings, i.e.:

(Return on total equity minus cost of outside shareholders) multiplied by the ration of outside shareholders to equity).

The return on equity is earnings divided by equity.

In process 8 assume that the income statement and balance sheet you have been given is a budget.  Modify the amounts in the light blue cells and see the effect on the various ratios and return on equity from the changes you made.  If you want to analyse company financial statements it is imperative that you fully understand this process.

Research Note 06: Apathy, Inertia and Time Management
One Page Summaries

I used this concept in my CA and CTA examination preparation programmes for many years.  My students loved having everything about a topic set out on one page.

Many years ago an engineer told me that his professor allowed his students to take one page into the examination with them.  Years later this engineer still had this laminated page ready for access.  Can you imagine the benefit he got by crystallising the knowledge that deserved to be on this precious one page?

Also a long time ago my dear friend Prof Piet Botha prepared a 50 page thesis for a mining conglomerate.  When he asked the chairman of the company if he would read it, the chairman said:  “Yes, if you get it onto one page”.  Piet telephoned me and said:  “How do you do this?”  I said:  “With difficulty”.

I have managed to get the 13 Portfolio Management Processes I have designed so far onto one page (see the processes on Excel and have designed a one pager on portfolio management and valuation math’s to save time in our future workshops (see Map 1).

Apathy, Inertia and Time Management

Apathy is defined as a lack of interest or enthusiasm.  There is not much I can do if someone is not interested in accumulating wealth to provide for their families and themselves in retirement or if unfortunate situations arise.  The spark has to come within them.  Some light up when we do the investment and retirement exercise in Map 1 but most times the spark is too weak to light a fire.  It is up to the individuals to decide whether or not wealth creation is a priority in their lives.

Inertia is defined as a tendency to do nothing.

So if you decide that you do not want to face poverty down the road there are two hurdles to overcome:

1. You have to turn apathy into enthusiasm.

2. You have turn inertia into action.

You need two tools to do this:

1. A sound process

2. The right attitude

The process would be to identify and crystallise the problem and solution thereto (a mission statement) and understand the importance of achieving this mission.

A mindset change would be required to change apathy and inertia into enthusiasm and action.

Over the years I have found that one can change attitudes by the use of affirmations.  An affirmation is a positive, true and personal assertion.  If these assertions are drilled into your brain over and over again, they become part of you.  Some that have stood me in good stead over the years are:

I make things happen.

I am a master of detail.

I think before I plan and plan before I act.

I strive for 100% understanding and 95% application.

I am positive and optimistic about the future.

I persevere in the face of all obstacles.

Every day in every way I get stronger and smarter.

I learn from the past, visualize the future and live in the present.

The four most important ideas in time management for me are:

1. Thinking and planning before acting 

2. Getting into a routine

3. Block scheduling my time

4. Setting and meeting deadlines

Here, for what it is worth, are my time management affirmations:

I think before I plan and plan before I act

I perform in accordance with my plan

I focus on one thing at a time

I wrap-up before starting the next task

I focus my full concentrated energy while performing

I pull the curtains down

I priority rate – I use Pareto's 80:20 principle

I work to achieve objectives, i.e. smart not hard

I use cybernetic feedback

I keep organised and work methodically

I keep my desk clear but for the project at hand

I travel light – shed what I do not need

I save trivia for one or two sessions a week

I have a place for everything and keep everything in its place

I make use of quality time

I cut the clutter on my desk and computer

I work in the B block (see process 10)

RN 07: Deducting Tax from the Risk Free Rate

We calculate the required rate of return in the DIY portfolio management programme as follows:

1. We start with the yield to maturity of the RSA 186 government bond (liquid and long term) being +/-9% p.a.

2. From this we deduct the personal tax rate of 45%.

3. To this we add an average after tax risk premium of 5%.

4. We then assess the risks applicable to this particular share and decide on a risk adjustment.

If the risk adjustment is, for example, 0.6%, the required rate of return would be: 9.0% x (1 – 45%) + 5.0% + 0.5% = 10.45%

I rely on the grey matter in my head to assess risks and not a flawed mathematical concept called “Beta”.

My entire teaching career has been spent arguing about the deduction of the tax from the “risk free rate”.  The capital asset pricing model ignores tax so the lecturers at university ignore tax so the students are taught to ignore tax and when they get into the big wide world were tax is an issue, they cannot accept that one cannot ignore tax as tax is a reality.

Many years ago I was working on a valuation problem with Absa.  They objected to the tax deduction so I asked them:  “When discounting cash flows to arrive at a valuation does one discount:

1. Pre-tax cash flows at a pre-tax rate or

2. Post –tax cash flows at a post-tax rate or

3. Pre-tax cash flows at a post-tax rate or

4. Post tax cash flows at a pre-tax rate

They agreed that the principle of discounted cash flow is to discount post-tax cash flows at a post-tax rate.

My next question was:  “Is the systematic risk premium of 5% p.a. before tax or after tax?”  Their answer was, quite correctly, “after tax”.

So the next obvious and final question was:  “So you are happy to add a risk free rate before tax to an after tax risk premium and get a logical answer?”  Their answer was:  “We agree that this is incorrect but we take the fact that we do not deduct tax from the risk free rate into account when arriving at the 5% risk premium!  Ja well no fine.

Also many years ago while I was presenting a workshop at RMB this issue arose.  One delegate was adamant that one should not deduct tax from the risk free rate so I asked him:  “If your wealthy aunt asked you to advise whether to invest in a government bond yielding 8% p.a. or a preference share in Standard Bank yielding 7% p.a. (there was no withholding tax or STC at the time), what would you advise?  He said:  “Clearly the preference share as she has to pay 40% tax (the rate at the time) on the interest leaving her with a return of only 4.8% and the risk differential between 7.0% and 4.8% does not warrant her living with the lower return.  The rest of the delegates burst into laughter and he did not know where to hide his head.  Did this change his mind?  Of course not!

After the imposition of withholding tax I have asked why I do not use 28% being the company tax rate.  If one earns interest in a company the combined rate is calculated as:
	Interest earned
	100.00

	Tax paid (28%)
	28.00

	Declared as a dividend
	72.00

	Withholding tax (20%)
	14.40

	Left with
	57.60

	Total tax therefore (Close enough)
	42.4%


But what about low earners whose marginal tax rates are not 45%?  Low earners are not big investors.

But what about big investors such as pension funds?  We are not valuing shares for pension funds in our DIY Portfolio Management Programme but for DIY investors.

What sparked this research note was an email I received from an old friend, Ben Steyn, who is even more passionate about the theory of finance than I am.  He has written a book on the subject and was a professor at Unisa for many years.  He told me that he is often challenged for taking tax into account when the Capital Asset Pricing Model ignores tax.  Clearly, over the years, Ben has realised that one cannot ignore reality.  However, the majority of lecturers at universities merely regurgitate what they were taught themselves so no progress is made in this topic.

The critical question to answer is:  “Does the market take tax into account when pricing financial instruments?”  Over the years I have supplied ample proof that it does.  Without resurrecting all the research I have previously conducted I offer a simple example below.

Standard Bank’s 100 cent 6.5% p.a. fixed rate perpetual preference shares presently yield 9.3% p.a. before tax.  After paying 20% withholding tax this is 7.4% (80% of 9.3%).

Standard Bank’s R100 preference shares that pay 70% of prime bank overdraft rate presently yield 10.6% p.a. before tax.  After paying 20% withholding tax this is 8.5%.

The RSA 186 government bond presently yields 8.0% p.a. before tax.  After paying normal tax of 45% this is 4.4%.

If one ignores tax when comparing long term government bonds with SBK’s preference shares, government bonds would be a no-brainer as the additional returns of 1.0% p.a. for the fixed preference shares and 2.3% p.a. for the variable preference shares would not come close to compensating the investor for the addition risks of investing in the preference shares.  However, comparing the after tax additional returns of 3.0% p.a. and 4.1% p.a. makes it much harder to choose and this is what the market is designed to do, to be efficient.

Ben sent me an article eloquently proving that one has to take tax into account in real life using the CAPM as his basis.  Well done Ben.  But the arguments will not go away.

RN 08: Retirement Portfolio Strategy

Ideas
Move to Government Bonds

Many years ago I met an investment manager in Cape Town who advised investors with R100m plus portfolios.  She told me that she moves all her clients into government bonds three years before they are due to retire.  I asked her to explain and her logic was: “To reduce the risk if the market collapses after they retire.
After every local market collapse since 1970, it has taken less than two years to recover.  Surely her clients can survive on R3m a year for two years?

If I had followed her advice at the age of 60, I would be worth 15% of what I am worth today.

Thinking in the box
During our lunch-time debates in our workshops I ask:  “Can a person with a R1m portfolio survive when she needs R100 000 p.a. in cash to survive and her dividends from her portfolio total only R30 000 p.a.?”  I find it fascinating when the typical CA in the room says:  “It is not possible.”

Thinking out of the box

When I push the rest of the group for an answer a housewife usually says “Can’t she just sell the odd share when she needs cash?”

Here are the results of a Hedgehog portfolio called: “Pina Calada” for the past four years and three months (R000):

	Period
	O Bal
	Cash Flow
	Gain
	C Bal

	2015.02
	882
	0
	244
	1126

	2015.12
	1126
	-26
	47
	1147

	2016.12
	1147
	35
	-78
	1104

	2017.12
	1104
	-126
	295
	1273

	2018.12
	1273
	-78
	-53
	1142


There will usually be a share in your portfolio that you would love to dump.  At the beginning of the year she phoned me and said:  “Suggest a share I should sell to give me cash for the year ahead”.  I suggested a share and she now has enough cash, together with her projected dividend receipts, to last for the year.  She is going on 80 and can live for many more years using this approach.

Buy High Dividend Paying Shares

One of the contributors of valuable ideas to our programme, also from Cape Town, has suggested that we should move to high dividend paying shares when we retire.  It sounds logical but I have two problems with this idea:
1 Moving from a 3% dividend yield to say a 5% dividend yield would merely add R20 000 p.a. cash to Pina Calada’s cash resources each year which will not solve her problem.
2 This move would compromise the quality of the shares held by her.

The “Bare Bones” formula for a dividend yield is: Risk free rate + risk premium - growth.
The only way to increase the dividend yield is to move to higher risk profile shares (not a good idea when you are about to retire) or aim for low growth shares (who knows, she could live to be a 100 and could run out of money).

To Conclude

My take on this is not to change your goals and strategy when you retire.
Your goal should still be to maximise your wealth within the constraints of your risk appetite.  It matters not whether your wealth comes from dividends or capital growth.  In fact, capital growth is preferred from a tax point of view as withholding tax is 20% whereas CGT can be managed in such a way as to reduce the rate to 0%.

I also see no reason to change your strategy on retirement other than, maybe, to de-risk your portfolio, i.e. investing in less risky shares and increasing the number of counters in your portfolio to further diversify it.

RN 09: Map 3 Mosaics

Description

The Mosaic in Map 3, Level 3 Company Analysis is a One Page Summary setting out the critical evidence needed to rank a share for selection purposes using the four evidence based system included in the Programme (4EB), i.e.  Performance, Profile, Business and Value.

Big Picture

The primary goal of your portfolio should be to maximise your wealth within the constraints of your risk profile.  To achieve this goal you should have sound portfolio construction and counter selection processes in place.  Both of these processes have been included in the Manual section of the material.  The issue this research note addresses is how to assess the evidence when selecting a share for inclusion in your portfolio.

From what I see when processing Hedgehog returns and portfolios, investors are not making full use of the information in the database to gather evidence about a counter before taking decisions.  The set-out of the Mosaics in the database has been redesigned to make them more effective for decision making purposes.

General Information (Cells C13 to D33)

This section of the Mosaic sets out basic information about the share (short name, Code, JSE sector indexes in which appear, stratum and cluster classification, main shareholders, main managers, auditors and size in market cap and float).

Evidence for Selecting a Counter

The four areas to consider when selecting a counter are:

1. The past performance of the company and the share

2. The profile of the company

3. The business of the company

4. The value of the share relative to the market price

Information about the profile of the company is contained in cells C46 to D59, information about the business of the company is contained in cells C4 to K12 and information about the value of the share is contained in cells C34 to D45.

Going forward, the information in these cells will be upgraded.

The main focus of the Mosaic is on the company performance, the share performance and the market performance.

Company Performance (Cells E13 to K39)

When analysing the past performance of the company there are three objectives to be achieved:

1. Level of performance

2. Growth achieved

3. Risk or sustainability

The level of performance is measured by the return on equity (ROE), i.e. the earnings of the company divided by the equity of the company.  The critical determinants of the ROE are:

1. Gross profit

2. Operating expenses 

3. Margin

4. Velocity

5. Return on non-core assets

6. Borrowing costs

7. Taxation

These measures are given in the Mosaic for the past five years together with an average for each measure to enable you to assess the levels and trends.

The growth rates in revenue, margin, earnings, comprehensive income and free cash flows are given for the past five years to assess the company’s ability to grow going forward.

The following risk ratios are presented for the past five years:

1. The structure ratio (total equity divided by total assets), both nominal and intrinsic, i.e. eliminating goodwill and intangibles from the assets and equity

2. The debt to equity ratio, both nominal and intrinsic

3. The liability settlement ratio (total liabilities divided by free cash flow) – a ratio over 6 is a concern
4. The debt settlement ratio (total borrowings divided by free cash flow) – a ratio over 3 is a concern
Commentary on the company performance is given in cells E60 to G74.

Share performance (Cells E40 to K54)

There are two aspects to analysing the share performance:

1. Growth in the various elements

2. Reality checks to assess value

The critical determinant of value (other than risk – see the cells C60 to D91) is the projected growth in future dividends.  It is, therefore, necessary to analyse how the company has grown its book value per share, earnings per share and dividend per share in the past.

A study of the past reality checks and their trends could give insight into the future returns one may achieve from the share.  The eight reality checks above the imputed growth rate are the actual measures based on their formulas – see the document called “Formulas” in Map 1.

The last reality check is the imputed growth rate which is based on a formula taking into account the required rate of return you require for this share.  The definition of “Imputed growth” is the rate dividends must grow by in the future to achieve the return you require.  If you change the risk adjustment in the fair rate of return on the Fundamental Analysis Sheet, you will see how this rate changes.

The predicted growth rate under the heading “Fair/Avg” is the growth rate based on the previous year’s measures.  By changing this rate you will see how the reality check measures change in this last column.

Commentary on the share performance is given in cells H61 to K66.

Market Performance (Cells E55 to K59)

This table sets out the returns the company achieved for each calendar year.  Note that the company and share performance measures are based on the company’s financial years and the elements of the returns, i.e. the dividend return, the dividend growth and the rerating are based on the calendar years.

Commentary on the market performance is given in cells H67 to K74.

Observations (Cells E75 to G91)

I give my observations on the company/share from my analysis culminating in an investment ranking for the share.  This should not be treated as advice but rather as guidance.

Valuation Issues (Cells H75 to K91)

This section contains the issues I came across in attempting to place a value on the share.

Note re Cell Numbers

The cell numbers quoted above apply to most, but not all, the Mosaics in Map 3.
RN 10: Post-mortems

Introduction

Every action should be followed by a post-mortem if you are in the pursuit of perfection.  The post-mortem process involves identifying the outcomes of your actions, comparing the outcomes with benchmarks, establishing the causes for under or over performance, identifying the reasons for each of the causes and taking the necessary action to rectify your decision making process.

Outcomes v Benchmarks

The design of this post-mortem process is based on our MeB strategy.  Our primary long term goal is to beat the Alsi index return.  To achieve this we start with the Findi index (which has outperformed the Alsi index over time) and eliminate the poor performing counters in this index.  We then consider a select few shares outside this index to enhance our return.  And finally we modify the weighting of our portfolio, preferably using an equal weighting strategy.

Because the industrial index has been the outperformer we tend to over-weight the counters in this sector and under-weight financials and resources.  We also take certain allocation decisions on the weighting of stratum A, B and C counters.

Our performance is, therefore, driven by allocation and selection decisions and should be evaluated accordingly.

Gross return

As our first long term goal is to at least achieve the Alsi return, we need to compare our gross return with the market (Alsi) return for the period.

Alsi alpha

As our second long term goal is to beat the Alsi return we need to evaluate the Alsi alpha we have achieved.  Our benchmark for this comparison is 2% p.a.  For 4 months it would be 4/12 x 2% = 0.7%.

Hedgehog alpha

If you like to compete with others, you will want to evaluate your performance against the other participants in Hedgehog.  If you achieve an alpha of more than 0% you are in the top half of the Hedgehogs (or Hoglets).

Findi return
If our strategy is to select shares primarily from the Findi index, we need to evaluate the Findi alpha we achieved.
Top 40 return

If our strategy is to select shares primarily from the Top 40 index, we need to evaluate the Top 40 alpha we achieved.

Outside Findi return (Sweeteners)

If our strategy is to select shares primarily from the Findi 30 index and we chose shares outside this index (sweeteners), we would like to know if our choices of these sweeteners were successful.

Outside Tope 40 return (Sweeteners)

If our strategy is to select shares primarily from the Top 40 index and we chose shares outside this index (sweeteners), we would like to know if our choices of these sweeteners were successful.

Excluding NPN

The share that dominates the main indexes is Naspers.  We would like to know what the impact of including or excluding this counter from our portfolio is.  The benchmark here is the Alsi return after eliminating NPN from it. 

Our sector performances

We would like to know if we are outperforming or under-performing the returns of each of the three sectors as we took allocation and selection decisions within each of these sectors when constructing our portfolios.  We compare our performance to the performance of each of the three sectors for this purpose.

Our stratum performances

We would like to know if we are outperforming or underperforming the returns of each of the three strata as we took allocation and selection decisions within each of these strata when constructing our portfolios.  We compare our performance to the performance of each of the three strata for this purpose.

Batting averages

We would like to know if we are more right than wrong with our selection of counters.
Weighting Standard Deviation
We would like to compare our weighting standard deviation of the proportion of counters with the 3% benchmark recommended in our programme.
For an example of what this Outcomes Table looks like, visit any portfolio in Hedgehog, preferable a bottom ranked portfolio and a top ranked portfolio.

Causes

Four decisions you took will have an impact on the performance of your portfolio (good or bad):

1. The strategy you chose

2. Your allocation decisions (Findi v other, sector Indi v Fini v Resi, and stratum A v B v C)

3. Your counter selection decisions

4. Your portfolio weighting decisions

Once you have determined what caused your portfolio to over or under-perform you need to look behind the causes to find the reasons for the decisions you took.

Reasons

This step requires absolute honesty on your part.  If you are egotistical, you will not progress beyond this step, i.e. rectifying your approach to decision making.

When I ask questions like:  “What evidence did you obtain before taking the decision to buy or sell that share?” or “On whose advice did you rely to take this decision?” I am either met with silence or an angry defence.  To keep the peace, I have stopped asking these probing questions.  However, if you are serious about learning from your mistakes and building substantial wealth at the expense of hurting your fragile ego, you will be honest with yourself and you will search for the real reasons for your poor decisions.

Some possible reasons for poor decisions are:

1. A lack of knowledge (ignorance)

2. A lack of experience (don’t know what to look for)

3. Arrogance (know it all)

4. Laziness (not prepared to spend time and effort)

5. A lack of relevant, reliable, sufficient and current evidence from the source to back your decisions

6. Spending effort and time on “philosophising” (e.g. people are aging so hospitals are a good investment) instead of analysing and evaluating the source data

7. A belief that you can see the future clearly (you can’t)

8. Not learning from your mistakes (don’t do post-mortems)

9. Relying on others without verifying their credentials

10. Fear (terrified of taking wrong decisions)

11. Impatience (sell your gems at the drop of a hat)

12. Apathy (could not care about your portfolio)

13. Taking bets on turnarounds (we invest, not gamble)

14. Not diversifying properly

RN 11: Satrix v MeB

Introduction

The following comment was received from a past DIY Portfolio Management Workshop participant:  “As we are scared to do things ourselves we have R1.3m in Satrix equally divided in Fini, Top 40, Divi and Indi” – the fear factor blocking progress towards wealth creation.

Conceptual Problems

What is not generally understood is that by acquiring Satrix 40, all you are doing is investing in a portfolio containing the top 40 shares by market float plus management fees.  By also acquiring the Fini and Indi you are duplicating the Top 40 with another layer of fees.  The intelligent DIY investor obtains a list of the shares in the Top 40, the Indi and the Fini and buys the shares directly (with R1.3m you can buy all 40 shares, which would not make sense as there are duplicates and dogs in the list).  You do not need specialised knowledge to do this.  All you need is common sense.

Acquiring a portfolio of high dividend paying shares is a little more complicated as here you need to understand the equation for a dividend yield.  The bare bones equation for dividend yield is the after tax risk free rate plus a premium for risk minus the expected future growth rate in dividends, i.e. DY = Rf + Rp – g.  If a share’s dividend yield is high it means that either the risk relating to that share is high or the expected future growth is low or the risk is high and the expected growth is low.  You do not need shares like these in your portfolio.

Performance of Satrix over Five Years

The returns achieved by the various Satrix shares over the past five calendar years ended 31 December 2017 compared to the indexes themselves were:

	
	Satrix
	Index
	Difference

	Satrix 40
	11.3%
	12.2%
	-0.9%

	Satrix Indi
	16.4%
	20.1%
	-3.7%

	Satrix Fini
	14.2%
	17.0%
	-2.8%

	Satrix Divi
	7.7%
	12.2%
	-4.5%


R10 000 invested over 45 years on the JSE would have resulted in R13.6m at the market return of 17.4% p.a.  Reduce this by 1% (16.4%) and you get R9.3m.  Reduce it by 2% (15.4%) and you get R6.3m.  These differences are huge.  It is worth the effort of doing it yourself to avoid these opportunity losses.

The calculations supporting the above are in a file called “Satrix” in the latest database folder.

Data Mining the MeB Strategy

I have performed a data mining exercise to illustrate how the MeB strategy works.  The shares in the Findi 30 at 31 December 2012 were:

	APN
	ASA
	BTI
	BVT
	CFR
	CSO
	FSR

	GRT
	INL
	INP
	IPL
	KIO
	LHC
	MEI

	MND
	MNP
	MSM
	MTN
	NED
	NPN
	OML

	REM
	RMH
	SAB
	SBK
	SHF
	SHP
	SLM

	TBS
	TRU
	VOD
	WHL
	
	
	


Five years ago our favourite 15 shares were:

	APN
	BTI
	BVT
	CFR
	FSR
	MEI
	MND

	NPN
	SBK
	SHP
	SLM
	TBS
	TRU
	VOD

	WHL
	
	
	
	
	
	


SAB was one of our favourite shares but has been excluded from the list above as it was subsequently delisted.

Had we formed a portfolio of these 15 shares, equal weighting them, (the “M” part of our strategy) and NOT sold them when things went wrong we would have earned 17.4% p.a. on this portfolio (the “B” part of our strategy).  Had we added our favourite three sweeteners to enhance our portfolio (the “e” part of our strategy), being AVI, CLS and CPI, our return would have been 19.5% p.a.  The Alsi earned 11.0% p.a. over this period and the Findi 30 earned 15.4% p.a.  The Alsi alpha, therefore, would have been a massive 8.5% p.a.  You do not want to know how wealthy this strategy would have made you over 45 years*.

Here is the list and the returns:

	APN
	11.2%
	MEI
	19.4%
	SLM
	18.4%

	BTI
	18.7%
	MND
	31.7%
	TBS
	10.5%

	BVT
	31.9%
	NPN
	45.2%
	TRU
	2.1%

	CFR
	14.6%
	SBK
	15.7%
	VOD
	9.4%

	FSR
	22.0%
	SHP
	4.0%
	WHL
	5.7%


The returns on the three sweeteners we would have added would have been:

AVI
18.4%

CLS
25.9%

CPI
46.3%

These decisions are not taking hindsight into account other than for SAB.

So now, folks, you know why housewives (who normally have clarity of thought) excel at this.  They follow the strategy and don’t churn.  The other part of the population either does not follow the MeB strategy or, if they do, they tend to over-manage their portfolios thereby destroying wealth.

* R317m

MeB Going Forward

The shares in the Findi 30 at 31 March 2018 were:

	APN
	BGA
	BID
	BTI
	BVT
	CFR
	CLS

	CPI
	DSY
	FSR
	GRT
	INL
	INP
	IPL

	MRP
	MTN
	NED
	NPN
	OML
	RDF
	REM

	RMH
	SBK
	SHP
	SLM
	SPP
	TBS
	TFG

	TRU
	VOD
	WHL
	
	
	
	


What are our favourite 13 shares at present?  This is a problem as I do not give advice.  However, if you do not hold me to this list (no guarantees) the list below are mine going forward for the next five years.  Not all will be winners, as you saw from the previous five years.  You are welcome to disagree with me and list your own favourite 13 and send me a paper portfolio of them, together with your three sweeteners, and we can have fun competing with each other.

	BID
	BTI
	BVT
	CFR
	CLS
	CPI
	DSY

	FSR
	NPN
	SBK
	SLM
	SHP
	TBS
	


My three sweeteners would be AVI, MEI and MND.

This gives us a 16 share portfolio.

Please remember that, in the short-term, there are so many unknown unknowns out there that anything can happen.  The above are long term projections.

And please remember that the notorious month of June is almost upon us so, using probability theory, it may be wise to wait for mid to end June to do any buying. 

RN 12: Portfolio Strategy

Introduction

The purpose of this research note is to give you my personal portfolio strategy which you could use as a basis for developing your strategy for your portfolio.

The process used is COPS:

1. Crystallise - mission, goals, objectives, projects

2. Organise - applications, database, systems, knowhow

3. Prioritise

4. Strategise – policies, mindset, approaches (passive and active)

Crystallise

Mission

My mission is to build and maintain a store of wealth that can sustain my lifestyle and which I can eventually bequeath to my family.

Goals

My long term goal is to earn a return of 12% p.a. on my store of wealth made up as follows:

Beta – market return

10% p.a.

Alpha – beat the market by

  3% p.a.

Costs – WT, transaction costs, etc.
 -1% p.a.

Objectives

My objectives are to generate the desired return and to manage the risk.

Projects

My projects are to keep in touch with the markets and the companies in my portfolio and to be on the lookout for new opportunities.

Organise

Applications

The applications I have developed to assist me in the management of my portfolios are:

1 Time value of money calculators

2 Alpha calculators

3 Living annuity calculators

4 Valuation and reality check calculators

Database

The database I maintain to assist me in the management of my portfolios contains information on the:

1 Markets

2 Companies

3 Paper portfolios

4 Hedgehog/Hoglet portfolios

Processes and systems

1. Decision making process

2. Portfolio construction process

3. Counter selection process

4. Portfolio monitoring system

Knowhow

The knowhow I possess to enable me to manage my portfolios are how to:

1. Calculate and analyse returns

2. Analyse and evaluate the performance of the markets

3. Analyse and evaluate the performance of companies and shares

4. Value shares

Prioritise

This is my third priority, after my health and my career.

Strategise

I have constructed three portfolios (Beta Plus, Clare MeFindi and Clare MeTop40) and have formulated a set of policies for managing them:

Policies

My policies for managing my portfolios are:

1. To take care when selecting shares for my portfolio as I intend to hold them for a long time.

2. To use the think, plan, act and feedback decision making approach to decision making

3. To use the four-evidence based approach to selecting shares (performance, profile, business and value).

4. Not to try to time the market:  if I have a plan, I execute it.

5. Not to overweight counters in my portfolio – I use more or less equal weighting with a materiality cap and floor.

6. To practice patience.

7. To avoid placing halos on companies, i.e. keep emotion out of the equation.

8. Not to fiddle for the sake of fiddling.

9. Not to listen to stories – do my own research and analysis before investing my hard-earned money in a counter.

10. To focus on generating Alsi alpha in the long term and in the short term to focus on beating the Findi 30 or Top 40, depending on my strategy.

11. To be sufficiently diversified to minimise risk.

12. Not to chase the next big thing but to confine my selection to a soundly researched watch-list.

13. Not to buy high and sell low; good shares usually recover.

14. To exit a share when it no longer meets the 4EB criteria.

15. To avoid companies that merely hold shares in other listed companies as these holding companies tend to destroy value.

16. To stick to my long term strategy even in years when it does not work.

17. To avoid high concentration in clusters such as banks and retail shares as these shares tend to move in tandem with each other thereby increasing risk.

18. To base all decisions on sufficient, relevant, reliable and current evidence obtained from the source.

19. To trust my own ability and instincts.

20. To be proactive, i.e. not procrastinate.

Clare MeFindi
This is a diversified portfolio which follows the Modified, Enhanced Beta strategy, using the Findi 30 index as beta.  It is a medium sized long term portfolio which keeps churn to a minimum.

Clare MeTop40

This is a diversified portfolio which follows the Modified, Enhanced Beta strategy, using the Top40 index as beta.  It is a medium sized long term portfolio which keeps churn to a minimum.

Beta Plus

This is a concentrated portfolio which follows the Modified Enhanced Beta strategy, using the Findi 30 index as beta.  It is a large long term portfolio which keeps churn to a minimum.

RN 13: Fairness of a Share Price
Introduction

During a presentation of the DIY Portfolio Management Programme to a private school in Pietermaritzburg I was asked by the English teacher:  “Why is Absa’s share price so much more expensive than First Rand’s share price?”  I have learnt over the years that the best response to this question is:  “Why do you think that Absa’s share price is more expensive than First Rand’s?”  Her answer was:  “Well, to buy one Absa share costs R150 whereas one First Rand share only costs R25.”  Needless to say, this was one of the most difficult questions I have ever had to answer taking into account the lack of knowledge of the questioner.
Principle
There are two values to a share:

5. What you can buy or sell it for today (the market price)
6. It’s value to you if held as a long term investment

If the value to you, as a long term investment, is less than the market price, it should not be in your portfolio.  If the value to you as a long term investment is more than the market price you should hold it provided that the investment meets the three other criteria.  Of course, this is easier said than done as valuing a share requires you to see the future with all its  unknowns.

Valuation Model
The value of any asset to you is today’s equivalent of the expected future benefits you expect to get from that asset.  The formula for valuing the expected future benefits from a share where the growth rate is expected to be constant is:
Value = (D x (1 + g) x (1-t)) / (r – g) where

D = Last year’s dividend per share

g = Expected future growth in dividends

t = Withholding tax rate – usually 20%
r = Return required on this share taking risks into account
Where growth next year is expected to be higher or lower than the medium and long term growth rates, use the model in the specific company file or in Map 1.
Example

Assume that last year’s dividend was 40 cents (earnings per share 100 cents), growth is expected to be 7% p.a. and your required return on the share is 10% p.a. the value of the share would be (40 x (1 + 7%) x (1 – 20%))/(10% - 7%) = 1 141 cents per share.  If the net asset value per share is 1 000 the following would be the reality checks:

	Dividend yield
	3.51% (40/1 141)

	Price earnings ratio
	11.41 (1 141/100)

	Price book ratio
	1,14 (1 141/1 000) 


If the market price of the share is 1 800 and you are confident regarding your valuation decisions, this share is “expensive”.
Process 13
The wild card in the valuation model is the expected future growth in dividends.  The previous year’s dividend is factual (unless it is not maintainable), the existing withholding tax rate is factual and one can determine a fair discount rate with some confidence if the necessary work is done assessing the risk attached to the share.

The following steps can be taken applying Process 13 to any listed share to determine whether or not it is expensive:

1. Enter the share code in C4
2. Enter the market price of the share in C5
3. Enter the dividend yield in C6
4. Enter the price earnings ratio is C7
5. Enter the book value per share in C8
6. Enter the withholding tax rate in C10 (20%)

7. Enter the risk free rate in C15
8. Enter the tax rate in C16 (45%)
9. Enter the average risk premium in C17 (5%)

10. Enter your view on the risk adjustment in C18
11. Enter your view on the long term growth rate in C20
When taking a view on the risk adjustment (usually between +1% and -1%) consider all the risks relating to the share including business risks, liquidity risks and financial risks.
When taking a view on the long term growth rate, consider the sustainable growth rate, growth rates in dividends achieved in the past, the expected growth from inflation, any potential growth expected from the deterioration of the rand and any real growth potential.  Seldom will one project a growth rate of more than 10% p.a.
The fair price for the share, together with the three main reality checks, can be found at the end of the process.

Practice Examples

The following information was extracted for the shares below as at 20 June 2018:
	Share
	Price
	PER
	DY
	NAV

	SBK
	18 845
	11.49
	4.83%
	9 830

	BTI
	69 347
	5.76
	5.00%
	51 463

	BID
	27 500
	22.36
	1.93%
	7 021

	CSB
	32 700
	16.74
	2.71%
	6 642

	CLS
	20 246
	35.22
	1.66%
	1 395

	CPI
	86 232
	22.35
	1.70%
	16 241

	DCP
	2 650
	33.29
	1.19%
	136

	DSY
	14 255
	17.94
	1.40%
	8 867

	MEI
	9 708
	18.91
	1.14%
	7 409

	APN
	26 182
	17.44
	1.10%
	9 443

	NPN
	320 787
	93.56
	0.18%
	46 516


The RSA 186 rate at this date was 8.6% p.a.

Apply Process 13 to these shares to obtain the necessary experience.

RN 14: Determining an Average Risk Premium

Introduction

When I started presenting my valuation workshops after the introduction of capital gains tax I used a systematic risk premium of 6% p.a. with no real evidence to support it.  This rate has been used ever since in our programme.  The problem is that when applying this rate the prices of most listed companies we value appear to be overly high.  Clearly the market does not agree with the discount rate we are using in our valuation models so the purpose of this research note is to reconsider the average risk premium.

Elements of a Valuation

The elements of a share valuation are:

1.  The previous maintainable dividend per share
2.  The withholding tax rate

3.  The predicted growth rate in dividends going forward

4.  The after tax risk free rate of return required

5.  An average risk premium for the market as a whole

6.  A risk premium adjustment 

The RSA 186 long term government bond rate at the end of June 2018 was approximately 9%.  Using the marginal rate of tax of 45% this gives an after tax risk free rate of 5.0%.
The withholding tax rate is presently 20% for most shares 

The dividend yield of the Alsi at 30 June 2018 was 3.06%.

The two unknowns

The formula for imputed growth rate is:
((r – DY x (1- t)) / ((1 + DY x (1 – t))

The two unknowns in this equation are r (the discount rate) and g (the growth rate).

The higher the discount rate, the higher future growth in dividends must be to justify the price of the share.  The table below illustrates this using a dividend yield of 3.06% and a withholding tax rate of 20%:

If r = 
g =.


8.0%
5.4%

8.5%
5.9%


9.0%
6.4%


9.5%
6.9%

10.0%
7.4%

10.5%
7.9%

11.0%
8.4%

11.5%
8.8%

12.0%
9.3%

Inflation is hovering around 5% at present.  If one projects a real long term rate of growth of between 2% and 3% a discount rate of 10.0% p.a. would be appropriate.  Given a risk free rate of 5% p.a., this would equate to an average risk premium of 5%.
In Conclusion
The fair rate of return would therefore be arrived at as follows at present:
	Long term government bond rate
	9%

	Marginal tax rate
	45%

	After tax risk free rate
	5%

	Average risk premium
	5%

	Risk adjustment – assumed
	0%

	Required rate of return
	10%


Since changing to a 5% average risk premium, our valuations of listed companies are more in line with the market prices. 
RN 15: Three Elements of Return

Introduction

The purpose of this research note is to explain the background, concepts and benefits of analysing the return from the market, a sector or/and a share into its three elements, i.e. dividend return, dividend growth and re-rating.

Background

The return one receives from investing in a share is derived from the receipt of dividends after tax and capital growth, i.e. the increase in the price of the share after tax.  Dividend withholding tax is a direct charge against the dividend received and capital gains tax is only payable when the capital gain is realised.

Concepts

Nature of a share

Holding a minority share in a listed company does not entitle one to a share in the assets or the earnings of the company.  It merely bestows on the holder various rights being:

1. The right to receive dividends

2. The right to any liquidation proceeds on the demise of the company

3. The right to certain information about the company

4. The right to vote at a shareholders’ meeting

Value of a share

The only right that has any real value is the right to receive future dividends.  When valuing a share one assumes a going concern, unless there is evidence to the contrary.  The right to vote at a shareholders’ meeting is worthless.  A small minority shareholder has no influence in a company’s affairs.

Valuation model

The formula for valuing a growing stream of future dividends is (D x (1 + g) x (1 – t)) / (r – g) where:

D = last years’ dividend

g = the predicted growth in future dividends

r = the discount rate

t = the withholding tax rate, usually 20%

Because the model assumes holding the share and because capital gains tax can be managed, capital gains tax is not taken into account in the model.

Dissecting growth

Growth in a share price is driven by the growth in dividends and the market’s rating of the share.  The market’s rating of the share is reflected by the dividend yield attributed to the share.

Formula for dividend yield

Using algebra to re-arrange the formula for value, the dividend yield of a share (D/V) is (r – g) / ((1 + g) x (1 – t)).

Drivers of dividend yield

From the formula above one can determine that the dividend yield is driven primarily by the market’s perception of the risk attached to the share and the predicted growth in future dividends.  If the market concludes that the risk is high or the future growth is low the dividend yield will be high and conversely if it concludes that the risk is low or the future growth is high the dividend yield will be low.  

Changes in the perception of risk and growth will affect the dividend yield, thereby affecting the price of the share and the return earned.

Example

An investor bought a share for 1 000 cents when the dividend per share was 30 cents.  She sold it for 1 200 cents and received a dividend of 33 cents before selling the share.

The total return earned from this investment was (200 + 33) / 1 000 = 23.3%.

The dividend return was 3.3% and the capital gain was 20%.

While holding the share the dividend grew from 30 cents to 33 cents so 10% (half) of the capital gain can be attributed to dividend growth.

During the period the share was held the dividend yield fell from 3.00% (30/1 000) to 2.75% (33/1 200).  The share was re-rated upwards by the market, i.e. either the risk attributable to the share was reduced and/or the predicted growth in dividends was increased.  This accounted for the other 10% (half) of the return from growth.

The rerating element of growth can be calculated as follows:  Had the dividend yield remained at 3.00%, the market value of the share at the date of sale would have been 33/0.03 = 1 100.  The price was actually 1 200, giving a 100 cent gain, or 100/1 000 = 10% gain due to rerating.

Conclusion

Being able to dissect the return from a share into the results of the actions of management (the dividend return plus the growth in dividends) and market perception (the rerating by the market of the share) improves the ability of the investor to analyse past returns and project future returns.

RN 16: Purpose of Hedgehog

Introduction

I was shocked to discover that one of the most intelligent long standing members of Hedgehog had no idea what Hedgehog was setting out to achieve.  If he did not get it, I am sure that many Hedgehog members don’t get it either.  The purpose of this research note is to clarify Hedgehog’s purpose and to spell out the apparent anomalies in the system.  If you are not into numbers, skip this and trust me.  

Purpose

The prime purpose of Hedgehog is to measure the performance of the investor’s portfolio, i.e. the gross return earned by the portfolio, the costs of managing the portfolio and the net return earned by the portfolio.

The secondary purpose is to provide information to help the investor analyse the performance of the portfolio.  

Unfortunately the Hedgehog system does not measure the performance of each counter in the portfolio as is traditionally done, i.e. using FIFO or weighted average cost accounting.  To include this objective in the system would make it unwieldy and extremely complicated.  After studying the examples below you will conclude that using value accounting, as opposed to cost accounting, does the job just as well.

Calculating the Return on WAI 

The following examples illustrate the calculation of the return on the weighted average investment in different scenarios.  For the purpose of the calculations below, assume that 2 May 2018 is exactly half-way between 31 December 2017 and 31 August 2018, i.e. 121.5 days out of a total of 243 days. 

Example 1

The opening balance at the beginning of the year (31 December 2017) for counter A was 100 shares at a price of R20 per share.  The price of the share was R22 at 31 August 2018.  What was the ROWAI for the period ending 31 August 2018 for counter A?

Calculation of return:

	Transaction
	No.
	Price
	Total

	Opening balance
	100
	R20
	R2 000

	Closing balance
	100
	R22
	R2 200

	Profit
	
	
	R   200

	Weighted average investment
	
	
	R2 000

	ROWAI
	
	
	10.0%


Calculation of weighted average investment:

	Investment
	Amount
	Proportion
	WAI

	Opening balance
	R2 000
	243/243
	R2 000


Does this make sense?

The calculation by Hedgehog of the return in this scenario is correct.  The investor made a profit of R200 on an investment of R2 000 which is 10%.

Example 2

The opening balance at the beginning of the year (31 December 2017) for counter A was 100 shares at a price of R20 per share.  On 2 May 2018 the investor bought 100 shares in A for R21.  The price of the share was R22 at 31 August 2018.  What was the ROWAI at 31 August 2018 for A?

Calculation of return:

	Transaction
	No.
	Price
	Total

	Opening balance
	100
	R20
	R2 000

	Bought
	100
	R21
	R2 100

	Closing balance
	200
	R22
	R4 400

	Profit
	
	
	R   300

	Weighted average investment
	
	
	R3 050

	ROWAI
	
	
	9.84%


Calculation of weighted average investment:

	Investment
	Amount
	Proportion
	WAI

	Opening balance
	R2 000
	243/243
	R2 000

	Acquisition
	R2 100
	121.5/243
	R1 050

	Total
	
	
	R3 050


Does this make sense?

The calculation by Hedgehog of the return in this scenario is correct.  The investor made a profit of R200 on an investment of R2 000 for the full period, which is 10% for eight months, and R100 on R2 100, which is 4.76% for half the period, which is equivalent to 9.52% for four months.  (10.0% x 8 + 9.52% x 4)/(8 + 4) = 9.84%.

Example 3

The opening balance (31 December 2017) for counter A was 100 shares at a price of R20 per share.  On 31 August 2018 the investor sold 100 shares in A for R22.  What was the ROWAI at 31 August 2018 for A?

Calculation of return:

	Transaction
	No.
	Price
	Total

	Opening balance
	100
	R20
	R2 000

	Sold
	100
	R22
	R2 200

	Profit
	
	
	R   200

	Weighted average investment *
	
	
	R2 000

	ROWAI
	
	
	10.0%


* See example 1

Does this make sense?

The calculation by Hedgehog of the return in this scenario is correct.  The investor made a profit of R200 on an investment of R2 000 for the full period, which is 10% for eight months.

Example 4

The opening balance (31 December 2017) for counter A was 100 shares at a price of R20 per share.  On 2 May 2018 the investor sold 100 shares in A for R21.  What was the ROWAI at 31 August 2018 for A?

Calculation of return:

	Transaction
	No.
	Price
	Total

	Opening balance
	100
	R20
	R2 000

	Sold
	100
	R21
	R2 100

	Profit
	
	
	R   100

	Weighted average investment
	
	
	R   950

	ROWAI
	
	
	10.5%


Calculation of weighted average investment:

	Investment
	Amount
	Proportion
	WAI

	Opening balance
	R2 000
	243/243
	R2 000

	Sale
	R2 100
	121.5/243
	R1 050

	Total
	
	
	R  950


Does this make sense?

Logically, the return for the period should be R100 profit on an investment of R2 000 for half the period, i.e. 10.0%.  However, Hedgehog assumes that the R2 100 realised on the sale of A is then invested in another share and the cost of that share will be R2 100.  From a portfolio perspective if we account for the cost of the new investment as R2 100, we must adjust the weighted average of the share sold by the same amount.  The reason for this should become clear in Example 6.

Example 5

The investor had no shares in A at the beginning of the year.  On 2 May 2018 she bought 100 shares in A at R21 per share. The price of the share was R22 at 31 August 2018.  What was the ROWAI at 31 August 2018 for A?

Calculation of return:

	Transaction
	No.
	Price
	Total

	Acquisition
	100
	R21
	R2 100

	Closing balance
	100
	R22
	R2 200

	Profit
	
	
	R   100

	Weighted average investment
	
	R2 100
	R1 050

	ROWAI
	
	
	9.52%


Calculation of weighted average investment:

	Investment
	Amount
	Proportion
	WAI

	Acquisition
	R2 100
	121.5/243
	R1 050


Does this make sense?

The calculation by Hedgehog of the return in this scenario is correct.  The investor made a profit of R100 on an investment of R2 100 which is 4.76% or 4.76% x 2 for the full period = 9.52%.

Example 6

The opening balance (31 December 2017) for counter A was 100 shares at a price of R20 per share.  On 2 May 2018 the investor sold 100 shares in A for R21.  She then immediately bought it back for R21.  The price of the share was R22 at 31 August 2018.  What was the ROWAI at 31 August 2018 for A?

Calculation of return:

	Transaction
	No.
	Price
	Total

	Opening balance
	100
	R20
	R2 000

	Sold
	100
	R21
	R2 100

	Bought 
	100
	R21
	R2 100

	Closing balance
	100
	R22
	R2 200

	Profit
	
	
	R   200

	Weighted average investment
	
	
	R2 000

	ROWAI
	
	
	10.0%


Calculation of weighted average investment:

	Investment
	Amount
	Proportion
	WAI

	Opening balance
	R2 000
	212.5/121.5
	R2 000

	Sale
	-R2 100
	121.5/243
	-R1 050

	Acquisition
	R2 100
	121.5/243
	R1 050

	Total
	
	
	R2 000


Does this make sense?

The calculation by Hedgehog of the return in this scenario is correct.  The investor effectively made a profit of R200 on an investment of R2 000 over the full period, i.e. a 10% return for the period.

In conclusion

From the above examples it will be seen that in most cases Hedgehog will provide answers that, traditionally, using cost accounting, make sense.  Apparent anomalies arise when shares are held for a short period and a large profit or loss is incurred during the holding period.  We will have to learn to live with this apparent distortion in returns using the value approach as opposed to the cost accounting approach.

In case you missed this, Hedgehog starts from afresh each year.  Past gains and losses are archived for posterity and we start with values at the beginning of the year and measure returns for the current year only based on the opening values and the transactions during the year.  However, for CGT purposes, you will need the full history for each share.  The good news is that your broker provides you with this information.  The bad news is that they often get it wrong so it is a good idea to keep your own records.

RN 17: The MeB Strategy Revisited
Motivation
One of my favourite Hedgehog cousins (A2B) wrote to me saying that he needs to reconsider his portfolio strategy.  This motivated me to write this research note.

Reasons for our poor Hedgehog returns
The four main reasons for the poor Hedgehog returns achieved for the eight months ended to 31 August 2018 were:

1. The market is going nowhere because of the poor growth rate in the economy (what growth?), the threats of expropriation without compensation (which will hit the banks hard), the on-going cost to companies of the sins of apartheid and the poor image of emerging markets as investment destinations.

2. Major losses on shares were incurred that could have been avoided had investors followed sound decision making processes.  These included losses from Curro, EOH, Fortress B, Greenbay, Intu, Kumba, MTN, Resilient, Stadio, Steinhoff, Sygnia, Tigerbrands, Woolies, Zeeder and, recently, Aspen.

3. Not following a sound strategy for constructing and managing portfolios – believing in picking, big hits, dodgy commentary by company management and recommendations by suspect market commentators.

4. Missing out on the recovery of resource shares (Anglos, Billiton and Sasol), which, after years of poor returns, made a comeback in 2018 (so far).

Challenge going forward
If you are serious about creating a store of wealth by investing in JSE equities you need to be ready to capture the returns that should be available when the market turns around.  Now is the time to work on your strategy, not when the turnaround happens.

Success or failure can only be determined in the long term.  Sometimes one has to forego short-term success in the interests of long-term wealth creation.  The problem is that most investors lack resilience and are impatient so abandon their mission when they do not see immediate results. 

Maverick risk

By choosing the Findi 30 as our “Beta” in our MeB portfolio management strategy we exposed ourselves to “Maverick Risk”, i.e. the risk of being “wrong” during periods when our strategy does not work.  Had we chosen the Top 40 as our beta we would not have been so exposed but, over time, would probably end up being poorer.

Our long term goal is to exceed the Alsi performance.  In the past 10 years the Findi has beaten the Alsi 80% of the time.  Assuming history repeats its self, by choosing the Findi as our Beta we will under-perform 20% of the time (like we are doing so far this year).  However, if we had chosen the Top 40 index as our Beta, which has only beaten the Alsi 30% of the time in the past 10 years, we would not have under-performed the Alsi index as the Top 40 mimics the Alsi more closely than does the Findi 30.

You need to take a policy decision:  Be embarrassed at least 20% of the time or regularly beat the Alsi but probably be poorer at the end of the day.  The elephant in the room is obviously resources, represented by Anglos, Billiton and Sasol, all three of which have outperformed the Alsi for the eight months to 31 August 2018.

Billiton and Sasol have only outperformed the Alsi 40% of the time in the past ten years and Anglos 30% in the past ten years.

Picking v tracking

Asset managers here and abroad differentiate between “picking” and “tracking”.   In the US index tracking funds have grown around six times faster than those actively managed.  (The Economist, July 7th 2018, page 64)  Even Warren Buffett has instructed the executives of his estate to invest in tracker funds on his demise.  The costs involved with picking in the US do not justify the additional return, if any, derived from this activity.
It is difficult to understand the thought process that goes on behind the scenes in the Hedgehog and Hoglet portfolios.  I get the impression that many transactions are based on flimsy or no evidence at all, investors relying on gut feel or on what they read in the financial press; totally ignoring the extensive research I have done on the companies.  A typical example was an email I receive recently which stated:  “I decided to have a punt on MTN.”  Clearly this investor never referred to the research I had done on this company, warning investors to stay away from the share.
In SA, because of our thin market, tracking does not make sense as it is easy to look behind the index and select only the “better” investments.

From my observations over the years of studying the performance of professional investors, “picking” does not outperform the Alsi over time.

MeB strategy

The third option

The Modified Enhanced Beta strategy is a third (middle) option which is designed for the SA market.   It chooses an index to track and then attempts to improve on the tracker return by selecting and investing in only the superior investments making up the index using a sound decision making process.  A by-product advantage is that costs levied by the tracker fund are avoided.

Choice of Beta

To keep the process simple and effective we need to choose an index that has few shares in it and is sufficiently diversified to minimise risk.  Of the six indexes we track, the Findi 30 and Top 40 indexes meet these requirements.  The Alsi is too large and the Indi, Fini and Resi are too narrow in their scope.
Our original strategy chose the Findi 30 over the Top 40 for the reasons given above.  The problem with this choice is that at least 20% of the time this strategy will under-perform the Alsi when resources come to the party.  This will cause investors, who lack the patience to persevere, to abandon the strategy when it does not work, as is happening at present.  The choice of Beta will, therefore, depend on the character of the investor.
Enhanced

If we could beat the Findi 30 or the Top 40 indices over time we would automatically achieve our goal of outperforming the Alsi over time.

This step requires the investor to choose his or her version of beta (Findi 30 or Top 40) and to improve on the returns from this index by dumping the dogs (and the duplicates) in the index and adding some counters outside the index that cannot be ignored because of their potential.

Modified

The purpose of this step is to modify the weighting of our portfolio to reduce the risk (and possibly improve returns).  Our MeB strategy attempts to more or less equal weight counters in portfolios rather than mimicking the market or using emotion to increase or reduce weightings.

The MeB algorithm
To comply with the MeB strategy there are four rules one should follow:

1: Proportion of portfolio from Beta
The portfolio should contain at least 70% by value of counters from the Findi 30 or at least 80% by value of counters from the Top 40, depending on the version of Beta chosen.
2: Number of counters in the portfolio
The number of counters in the portfolio should be between 10 and 20, depending on the total amount of the portfolio and the desire to reduce risk by diversification.  Less than 10 shares will expose portfolios to unnecessary risk and more than 20 shares will result in individual shares not adding value to your portfolio.
3: Cluster size
No cluster should exceed 35% of the total value of the portfolio.

4: Portfolio weighting
The various counters in the portfolio should be more or less equal weighted, i.e. within a standard deviation of 3% either side of the mean.

The New Modified Hedgehog Report

Jade and I took a few days off to modify the already powerful Hedgehog portfolio report.   The changes we made are set-out below.

Other Stats (C26 to E33)

A simplified set-out of the investor’s gross return compared to the return on shares still held compared to the return excluding Naspers is given.

A comparison of the investor’s portfolio price earnings ratio and dividend yield to the market PE ratio and DY is given to assess the profile of the portfolio.
Standard Deviation of Proportions Held (K80)

See cell K80 for this measure; the lower, the better.

Results of Applying the MeB Strategy
The table between cells AF22 and AJ28 sets out the results of applying the MeB strategy.  It is the most revealing information in the Hedgehog report.  The table below is from Clare MeFindi’s portfolio:

Strategy                         MeFindi                 MeTop40

	Details
	Findi
	Other
	Top 40
	Other

	No. of shares
	14
	4
	16
	2

	Percentage
	75.6%
	24.4%
	88.4%
	11.5%

	Actual returns
	-2.6%
	7.3%
	-0.5%
	0.6%

	Benchmark
	-3.8%
	7.6%
	1.7%
	-5.8%

	Alpha
	1.2%
	-0.3%
	-2.1%
	6.3%


This table reveals the following:
1. Clare chose 14 counters from the Findi 30 and 4 from outside of it

2. Had Clare used the Top 40 index as her beta, 16 came from the Top 40 index and 2 outside this index

3. 75.6% of her portfolio came from the Findi 30, thereby meeting the criteria for this strategy

4. Had she used the Top 40 index as her beta, 88.4% came from this index thereby meeting the criteria for that strategy

5. She successfully selected the “better” shares from the Findi index thereby enhancing the return by using this strategy

6. Had she used the Top 40 shares as her beta, she under-performed this index – which is understandable as she opted not to include any of the three main resource shares in her portfolio
7. Her choice of “sweeteners” was, on the whole, successful, thereby enhancing her return 

The following valuable information has been revealed by this table – the returns for the eight months ended 31 August 2018 were:
	From the Findi 30
	-3.8%

	Outside the Findi 30
	+7.6%

	From the Top 40
	+1.7%

	Outside the Top 40
	-5.8% 


Other Changes to Hedgehog
The other changes made to the Hedgehog report were required to facilitate the calculations of the new information presented above.
Changes to the post-mortem tables

Improvements were made to the Outcomes and the Strategy sections of the post-mortem procedure to make this process more effective.
Evidence required for the MeB strategy 
To test that our strategy works in practice we need evidence to answer the following questions in the affirmative:
1. Are the followers of the MeB strategy outperforming those who pick shares?

2. Do the followers of MeB really have the ability to enhance the long-term returns of the Beta (the Findi 30 or the Top 40) by dumping the dogs and selecting only in the “better” counters from the chosen index?

3. Do the “sweeteners”, i.e. the selections made outside the index, really enhance the long-term return from the portfolio?

4. Does modifying the weightings of the counters in the portfolio by more or less equal weighting them as opposed to mimicking the weightings in the index or using emotion really improve the returns from the portfolio?
Note that one needs evidence that both returns are improved and that risk is reduced by applying the elements of the strategy.  It is possible to measure the impact of the strategy on returns but measuring the reduction in risk is not that easy.

Results of evidence gathered so far
MeB beats picking

I entered a MeFindi portfolio into various paper portfolios – see the sundries section of the Programme.  As at 31 August 2018 here are the results:
1. In paper portfolio 1 coming 4th out of 27 
2. In paper portfolio 2 coming 2nd out of 9  

3. In paper portfolio 3 coming 3rd out of 8 

4. In paper portfolio 4 coming 4th out of 9 

5. In paper portfolio 11 coming 2nd out of 15 

6. In paper portfolio 12 coming 7th out of 18

My portfolio called “Clare MeFindi” portfolio in hedgehog is in the 3rd decile (last month 4th).  I intend launching a “Clare MeTop40” portfolio purely in the interests of research in the near future.  (This has since been done.)
We identified the portfolios in Hedgehog that are using the MeB (Findi) strategy, either intentionally or by default, and compared their gross returns with those that were not complying with the four rules.  The results of the study for the eight months to 31 August 2018 show that the “assumed” MeFindi portfolios about equally performed those who do not follow the rules – see Map 5 Statistics.

This result was expected this year as few, if any, MeFindi portfolios contain resource counters.  For example, 50% of the top 10 hedgehog portfolios contained Anglos, Sasol and/or Anglos.

Over time I am convinced that the MeB strategy (both Findi and Top 40) will outperform picking, but further research needs to be done to persuade the sceptics.
Selecting beats tracking

57% of Hedgehogs and Hoglets were able to enhance the Findi return by selecting counters from the index.

Had we used the same strategy on the Top 40 index I am convinced we would have had the same result.  However, more research will be necessary to convince the sceptics.

Sweeteners add value

For the eight months to 31 August 2018 counters outside the Findi 30 earned 7.4%, mainly due to the returns on resources.  The average Hedgehog/Hoglet portfolio had a negative alpha of -6.2% here, which means that it earned 2.2% from the sweeteners, which outperformed the Alsi.  So, to date adding sweeteners worked in our favour.
Equal weighting beats mimicking and emotion

We ran a regression analysis study comparing the average gross returns earned by the MeFindi portfolios (y) with the standard deviations of the weightings of the portfolios.  The results of the study confirmed that more or less equal weighting was superior to other methods of weighting, despite the period being only eight months.  Research will continue on this aspect going forward.  The regression equation for the eight months to 31 August 2018 was:

y = a + bx, where

y is the average return on the portfolios (-2.4%)

a is the alpha (-1.9%)

b is the beta (-0.12)

x is the average standard deviation (4.0%).

-1.9% -0.12 x 4.0% = 2.4%

This is telling you that the lower the standard deviation, the higher is the return.

I did a three year study many years ago and found the same outcome.  This confirms other studies around the world that equal weighting portfolios improves returns.

In conclusion
1. It is recommended that investors use the MeB strategy as opposed to picking shares.

2. The choice of beta should be either the Findi 30 or the Top 40 index.

3. At least 70% of the portfolio should be sourced from the Findi 30, if that option is chosen or 80% from the Top 40 if that option is chosen.

4. The optimum portfolio should contain between 10 and 20 counters depending on the size of the portfolio.

5. No cluster should exceed 35% of the portfolio.

6. One should more or less equal-weight the holdings in the portfolio (within 3% standard deviation of the mean).

RN 18: Risk Reduction

Introduction

The first principle of portfolio management is not to lose money.  The portfolio manager will, therefore, need a process which reduces the risk of loss.

Being in the top 10 of Hedgehog due to a high return does not automatically mean that you have a superb portfolio: one should look at the quality of the portfolio as well as the return.

The four risk reduction processes are:

1. Diversify the portfolio

2. Employ sound portfolio management strategies
3. Know when to sell a counter

4. Plan cash needs if in use stage
Diversify Portfolio

The key here is that your portfolio should not be at risk of one or two shares collapsing.  For a small portfolio, 12 counters should be sufficient to diversify a portfolio provided that the holdings are not confined to only a few clusters.  Larger portfolios could go to as many as 18 counters.

It has been found that more or less equal weighting a portfolio (a standard deviation of 3% or less of proportions held per counter) reduces risk (and improves returns).
The argument against diversification is that returns are diluted by diversification.  This argument is only valid if your full time occupation is searching for and evaluating potential investments, as is the case of Mr Warren Buffett.  The typical investor in our Programme has a day job so has no option but to protect himself or herself against loss.  

Sound Portfolio Management Strategies
The two most important processes here are those for constructing portfolios and those for selecting counters for inclusion in portfolios.

There are basically two approaches to portfolio construction:

1. Randomly picking shares for inclusion in the portfolio based on articles you read, tips from radio programmes and/or comments by friends

2. A sound strategic approach

I have evaluated many portfolios over the years and I can assure you that “picking”, for various reasons, does not result in maximising the return and minimising risk of a portfolio.

The strategic approach used in our Programme is called the Modified Enhanced Beta strategy.  Previous research notes cover this aspect in detail.
The main reason why investors in Hedgehog incur serious losses is because they do not obtain sufficient, relevant, reliable and current information from the original source.  One of the founding members of Hedgehog was horrified to learn that I do not read financial journals or notes published by asset managers.  Journalists and asset managers use the same sources that I do, i.e. Sens announcements, interim financial statements, preliminary financial statements, published annual audited financial statements (the most important of the sources) and integrated financial reports.  I prefer my information unfiltered.  Map 3 gives an unfiltered version of the information about companies.
Process 5 (revised) sets out the updated selection process.  Lesson 12: Counter Screening (to be updated in version 5 of the manual) sets out the screening process.

The four steps to be taken when selecting a counter have not changed.  They are:

1. Performance

2. Profile

3. Business

4. Value 

Each is dealt with below.
Penny Pincher, a member of Hedgehog, documents the thought process supporting any transaction he makes so he can learn from his mistakes should the decision turn out to be a poor one.  This is a powerful idea.  

Performance

The four areas to analyse in this step are:

21. Company performance
22. Share performance
23. Market performance
24. Dividend performance
Company performance
From the financial analysis section of the company’s file analyse the:

25. The income statement

26. The balance sheet

27. The other statements

28. The various ratios
When analysing the past income statements of the company study the growth rates over the years in revenue and earnings and understand any differences between the two growth rates.

When analysing the past balance sheets of the company, study the quality of the assets (for example fixed property would be high and goodwill would be low), the extent to which the company uses debt as a gearing mechanism and growth in equity.

Study the statement of other comprehensive income and changes in equity identifying any large items affecting equity, e.g. foreign currency translation reserves.

Study the segment report to assess the extent to which the company is diversified and to identify any problem segments in the company.

Study the cash flow statement to identify how the company generates free cash flow and how it deploys the cash.
Study the reconciliation between earnings and headline earnings to understand the make-up of headline earnings and the resultant headline earnings per share.

Study the growth ratios, profitability ratios, gearing analysis, velocity analysis and sustainability ratios.  

See lesson 10 of the manual.

Share performance analysis

The four areas to analyse in this step are:

1. Book value per share growth

2. Earnings per share growth

3. Dividend per share growth

4. Book value per share dilution

The first table in the Fundamental Analysis sheet in the company’s file in Map 3 is where you will find this information.  The main purpose of this analysis is to assess whether or not the imputed growth rate in the share price is achievable.

Market performance analysis

The four areas to analyse in this step are:

1. The absolute returns achieved by the share
2. The returns relative to the Alsi and Findi achieved

3. The elements of the achieved returns

4. The key reality check ratios

The absolute returns should be analysed over a ten year, five year and three year period as well as each year over the past ten years.  This information can be found in the Statistical Analysis sheet in the company’s file in Map 3.
The returns relative to the Alsi returns (our long term goal) and the Findi 30 returns (one of our two strategic goals) should be assessed.  This information can be found in the Statistical Analysis Sheet in the company’s file in Map 3.
The three elements of the absolute returns are:

1. Growth rate in dividends

2. Dividend return

3. Re-rating by the market

The first two are the fundamental elements, i.e. what the company achieved, and the third is the element resulting from market sentiment.  This information can be found in the Statistical Analysis sheet in the company’s file in Map 3.

The key reality check ratios that should be assessed are the:
1. Price book ratio

2. Price earnings ratio

3. Dividend yield

4. Sustainable growth rate

5. Imputed growth rate

6. Duration

This information can be found in the Fundamental Analysis sheet in the company’s file in Map 3.

Dividend Performance Analysis
The following four areas should be analysed:

1. The growth rate in past dividends (see above)

2. The basis on which dividends are determined

3. The frequency of dividend payments

4. The consistency of dividend payments

The purpose of this analysis is to determine how sustainable dividends should be going forward.  This information will be found in the Fundamental and Statistical sheets in the company’s file in Map 3.

Profile

If the market does not like a company, the share price is unlikely to perform.  Companies need to project a sound profile for it to be accepted by the market.  It can take years to build a reputation and minutes to destroy it.  If a company has a bad reputation, rather avoid the share.

The four areas to analyse in this step are:

29. Management’s ability

30. Reporting integrity

31. Financial strength

32. Regulatory issues
This information can be found on the company’s Mosaic (details) sheet in the Map 3 file.

Management’s ability

33. Management’s qualifications and experience.

34. Actions taken by management and the outcomes thereof, e.g. going off-shore with disastrous consequences.

35. The strategic plans of management.

36. The corporate governance procedures, ethics and reactions to any challenges to its reputation.

Reporting integrity

37. Clarity, brevity and telling it like it is

38. Compliance with sound accounting standards

39. Free from material strange and unexplained entries

40. Free from unnecessary hype designed to mislead, own definitions of earnings such as “EBITDA”, “core”, etc.

Financial strength

41. Financial structure

42. Liquidity

43. Relationship of debt to equity

44. Liability settlement period

Regulatory issues

45. Constraining regulations

46. Outstanding court cases

47. Attacks by SARS

48. Other run-ins with authorities, e.g. competition, health, etc.

Business

Decide whether or not you are comfortable with the business of the company.  There could be moral or religious reasons for not associating yourself with certain businesses.  Your risk appetite will also be a factor to consider here.
The following four areas should be analysed:

1. The nature of the company’s business

2. The sustainability of the business

3. The threats to the company’s business

4. The opportunities for expansion 

Understand the nature of the products the company sells and the services it provides, who the company’s customers and clients are, the sources of the company’s raw materials and other resources, where the company operates, the extent to which the operations are diversified, the sustainability of the company’s operations, the threats to its operations and the rand-hedge potential of the company’s cash flows.

Avoid high risk businesses such as SA gold and platinum, mining, motor dealing and furniture manufacturing.

Value

The value of a share is the discounted future growing dividends after tax so gather evidence to substantiate the:

49. Sustainability of the maintainable dividends

50. Future growth potential in dividends

51. Risks attaching to the future dividends

52. Results of the valuation model

Dividends sustainable

Study the company’s dividend per share history and analyse the company’s financial statements.  This information can be found in the Share Information and Statistical Analysis sheets of the company in Map 3.
Growth potential

Consider:

53. The historical growth in dividends.

54. The sustainable growth rate and the relevance of this measure, e.g. whether the company has the ability to pass cost inflation onto customers, fund future growth, find additional customers, etc.

55. Management’s plans for future growth and how they are to be funded.

56. The growth in the economies in which the company operates.
Assess the imputed growth rate in the share price and consider whether or not it is achievable.
Risks

Risks can be classified into:

57. Business risks

58. Financial risks

59. Compliance risks

60. Management risks

Business risks could include:

· The impact that new competition could have on the business

· The possibility of labour unrest and the impact on the future profits and cash flows

· The possibility and consequences of losing one or two major customers

· The reliability of supplies of raw material and product

· The vulnerability of the brand to legal and other attacks

· The impact of changing commodity prices on profitability

· The effect of product obsolescence on the future profitability, cash flows and sustainability

· The impact of an economic downturn on the profits and cash flows of the company

Financial risks could include:

· The impact that interest rate increases could have on profits and cash flows

· The impact of changes in exchange rates on profits and cash flows

· Whether there are available liquid resources to meet commitments and obligations

· The exposure to credit risk, e.g. defaulting debtors or borrowers

· Possible pension fund shortfalls

· Under provision for environmental damage

· Under provision for bad and doubtful debts

Compliance risks could include:

· The extent to which government interference could affect profitability and cash flows

· The risk of Tax Revenue’s attacks and the possible consequences thereof

· The effects of non-compliance with legislation

· BEE regulatory compliance

Management risks could include

· Provisions for succession of key managers

· The effect of skills shortages on operations

· Inadequate internal controls

Results of model

The valuation model in the fundamental section of the company’s file is available to assess whether or not the price of the share is fair.  To perform this exercise:

61. Take a view on the adjustment to the average risk premium.

62. Take a view on the window period.  The window period will depend on the sustainability of the company’s business and the cycle in which it is at present.  The main purpose of this step is to facilitate the three stage growth projections below.

63. Take the following views regarding the growth in future dividends:

· The growth rate in dividends for the current year

· The growth rate in dividends during the window period

· The growth rate in dividends after the window period

· The dividend pay-out ratio at the end of the window period

64. Perform “what-if” scenarios by changing your views to determine the effect on the margin of safety and assess the following reality checks:

· The dividend yield of the share

· The price earnings ratio of the share

· The price book ratio of the share

· The duration of the share

Know When to Sell
This is the most difficult decision you will have to make in portfolio management.

The easy approach to this problem is to ask:  “Would I buy this share today?”  If the answer is “Yes” after performing the necessary analytical work on the share, then you should hold onto the share. If the answer is “No”, then you should question why you are holding the share.

Another approach is to ask whether the utility value of the share is higher or lower than the disposal value of the share.  The utility value of a share is the present value of the future benefits you can expect to receive by holding the share in the long term.  The disposal value of the share is what you can get for the share if you sold it today, i.e. the market price.
Example:  You own Shoprite.  You love the share as it operates a sound and solid business, there are no profile issues with the share, over the past 10 years the share has yielded a return of 21% p.a., over the past 5 years 4% p.a. and over the past three years 12% p.a.  Its latest financial statements show a growth in revenue of a mere 3.1%, with earnings falling by 4.2%.  Dividend per share has fallen by 4.0% in the current year and the market price has fallen by 13.4% for the 9 months to 30 September.  The imputed growth rate at 30 September 2018 is 7.8%, which you think could be on the high side.  You consider Shoprite to be a permanent feature in your long term portfolio.  What do you do?  Hold it or sell now and hope that the share falls by 20% and then buy it back?
Plan Cash Needs
If you are in the use stage of your portfolio cycle you should have at least one year’s cash needs on hand to avoid having sell shares during a market crash.

An analysis of the history of the market over the past 40 years reveals that it has never taken more than two years for the market to recover after a crash.  The average is just over a year.
If you are forced to sell shares during a crash, the good news is that there will always be a counter that you were looking to dump.  You now have the opportunity to shed that share!

RN 19: The Fourth Element

Background
On 19 October 1987 the Dow Jones Index fell by 22.6%.  That day became known as Black Monday.  There was confusion and disbelief in the US regarding this event.   Many theories as to the caused were floated.  One idea that became popular was that computer generated sales was the culprit.  It took a few years for a professor of finance at one of the elite universities in the US to link the crash to the fact that the Fed had increased its benchmark interest rate by 125 basis points (1.25%) a few weeks prior to the crash.  Immediately after 19 October the Fed reduced its interest rate to calm the markets.
US markets are coming under pressure at the moment because of talk that the Fed is to increase interest rates to curb inflation.
Interest rates have a direct impact on market prices of shares and market indices because it is an important element in the share valuation model.

Valuation Model

The formula for discounting a future steam of dividends (D) growing at g% p.a. at a discount rate of r% p.a. is D / (r -g) where D is next year’s dividend.
In our Programme we use the actual past dividend as our starting point so D must be increased by one year’s growth.  In SA dividends are reduced by withholding tax so D should be reduced by this tax.  The formula we use to value future dividends is, therefore:

V = (D * (1 + g) * (1 – t)) / (r – g)

Discount Rate (r)
The discount rate used in our Programme commences with the long-term Government Bond yield (BY) as published by the Reserve Bank of South Africa.  From this yield we deduct the tax that would be paid by investors earning this interest (NT).  We then increase this after-tax interest by a premium for risk (RP).  The formula for arriving at the discount rate is, therefore, BY * (1 – NT) + RP.
If, for example, the long-term bond yield was 9.5%, the investor’s tax rate was 45% and the risk premium was 5% the discount rate would be 9.5% * (1 – 0.45) + 5% = 10.2%.

Imputed Growth Rate (g)
If we substitute V in the valuation model by the price of the share (P) and if we estimate the discount rate as in the previous paragraph, we are left with one equation and only one unknown, being g.  Using algebra, g can be arrived at as follows:

g = (r – DY * (1 – t)) / (1 + DY * (1 – t)) where DY = D/P.
The Three Element System

The following example illustrates the three element system of analysing the return for the Alsi Index:

	Date
	Index
	DY
	Dividend

	31-Dec-17
	59 505
	2.78%
	1 654

	30-Sep-18
	52 389
	3.63%
	1 902


The total return is calculated as follows:

	Capital growth (52 389/59 505 – 1) = 
	-12.0%

	Dividend return (1 902/59 505 x 10/12) =
	 2.7%

	Total return
	-9.3%


We have been calculating the elements of the capital gain as follows:
	Growth in dividends (1 902/1 654 – 1) =
	15.0%

	Re-rating (52 389 - 1 902/2.78%)/55 708 =
	-26.9% 

	Capital gain (slight rounding error)
	-12.0%


The negative 26.9% “re-rating” loss is not only caused by changes in perception of risk and growth going forward, but it is also caused by movements in the bond yield.
The Fourth Element
Open the file called “2018 Return elements of indices”.  You will see that the -26.9% “re-rating” calculated in the three element system can be analysed further into:
	Bond yield increase
	-4.2%

	Re-rating (real)
	-22.7%

	Previous re-rating (slight rounding error)
	-26.9%


Four Element Reconciliations
The file called “2018 Return elements of indices” sets out the four element approach to analysing the returns for each of the six indices we track for the ten months ended 31 October 2018.
The Returns sheet in Map 2 has been redesigned to illustrate the four element return analysis for the past ten years.  Going back before 2007 we will have to live with the three element analysis system as I do not have the information to do this study.
This analysis system throws a very different light on the causes of the returns achieved for the past 11 years.  It will help us with predicting where the market is going into the future.

Reality Checks

Understand the following rules:

65. If bond yields increase, equity returns decrease.

66. If bond yields decrease, equity returns increase.

67. If dividends grow, equity returns increase.

68. If dividends fall, equity returns decrease.

69. If the imputed growth rate increases, re-rating improves and equity returns increase.
70. If the imputed growth rate decreases, re-rating worsens, and equity returns decrease.

It is not necessary to understand the maths involved.

Our monthly market feedback will, from now, incorporate this new information.
Our Programme just keeps getting better and better.
RN 19: Goodwill

Introduction

The Economist, September 1st 2018: “When it comes to concepts with inappropriate names, goodwill is near the top of the list.  Instead of benevolence and big-heartedness, it provokes irritation and theological feuds among financial types.  Goodwill is an intangible asset that sits on firms’ balance sheets and represents the difference between the price they paid to buy another firm and their target’s original book value.”  Spot the errors?  Goodwill is not an intangible asset and “original book value” should read “fair values of net identifiable assets”.
Definitions
Goodwill is defined by IFRS as an asset representing the future economic benefits arising from other assets acquired in a business combination that are not individually identified and separately recognised.  An asset is identifiable if it either capable of being separated or divided from the entity and sold, transferred, licensed, rented or exchanged, either individually or together with a related regardless of whether or not the entity intends to do so.

The definition of goodwill I love the most is “something you paid for but you don’t know what” (a past Durban workshop participant).

An intangible asset is defined as an identifiable non-monetary asset without physical substance.  Examples are brand names, mastheads, publishing titles, computer software, licences, franchises, copyrights, patents industrial property rights, service and operating rights, recipes, formulae, models, designs and prototypes.

Steinhoff’s Goodwill and Intangibles
Extracts from the balance sheets:
	Rbn
	30 June 15
	30 Sep 16

	Goodwill
	81
	141

	Intangible assets
	53
	111

	Borrowings
	64
	124


If these amounts did not cause you to be concerned, you were not focusing!  I get the distinct impression that the asset managers in SA do not devote enough attention to companies’ balance sheets.

The annualised return on equity for the period ended 30 September 2016 was a mere 7.5% (if you can believe it).  This should have indicated to you that the goodwill/intangibles were over-stated.  This was one of many red flags I picked up before the company went pear-shaped.

Aspen’s Goodwill and Intangibles

Extracts from the balance sheets:
Rbn 

1

